

Purchase Order #	Date:
TO: Watercenter	Phone: (206) 440-3008
6830 NE Bothell Way #C424	Fax: (240) 208-7289
Kenmore, WA 98028	eMail: sales@watercenter.net
	_ VISA _ MasterCard _ Check
Purchase Order No.:	Credit Card #
Authorized Signature:	exp. date:
BILL TO:	SHIP TO:
School/District:	School:
Attention:	Attention:
Address:	Address:
City/State/ZIP:	City/State/ZIP:
Phone:	Phone:
	FAX:
FAX:	

			List		Online		
SKU	500 - Drinking Water Basic Tests	Qty	Price	Savings	Price	SubTotal	Kits Total
500-Base7-t9	Teacher Complete 9 Study Kit: 189 Tests		462.49		369.99		
500-Base7-dr3	Teacher 3 Demo Refill Kit: 63 Tests		120.49		108.44		
500-Base7-sr6	Teacher 6 Study Refill Kit: 126 Tests		240.59		204.50		
500-Base7-sr9	Teacher 9 Study Refill Kit: 189 Tests		360.79		288.63		
500-Base7-P15	Teacher Replacement Posters: 15 Posters		102.09		91.88		
500-Base7-2	Contains 2 Sets of 7 tests = 14 Tests		36.99		31.19		
500-Base7-3	Contains 3 Sets of 7 tests = 21 Tests		39.99		33.29		
500-Base7-4	Contains 4 Sets of 7 tests = 28 Tests		43.99		36.19		
500-Base7-6	Contains 6 Sets of 7 tests = 42 Tests		51.49		41.89		
500-Base7-8	Contains 8 Sets of 7 tests = 56 Tests		58.49		47.49		
500-Base7-9	Contains 9 Sets of 7 tests = 63 Tests		61.99		49.69		
500-Base7-10	Contains 10 Sets of 7 tests = 70 Tests		65.49		52.49		
500-Base7-12	Contains 12 Sets of 7 tests = 84 Tests		72.39		57.29		
500-Base7-15	Contains 15 Sets of 7 tests = 105 Tests		82.89		64.79		
500-Base7-18	Contains 18 Sets of 7 tests = 126 Tests		93.39		72.99		
500-Base7-21	Contains 21 Sets of 7 tests = 147 Tests		103.79		81.09		
500-Base7-24	Contains 24 Sets of 7 tests = 168 Tests		114.29		86.99		
500-Base7-27	Contains 27 Sets of 7 tests = 189 Tests		124.79		94.99		
500-Base7-30	Contains 30 Sets of 7 tests = 210 Tests		135.19		102.89		
500-Base7-33	Contains 33 Sets of 7 tests = 231 Tests		145.69		110.89		
SKU	504 - Drinking Water Basic Tests Plus Bacteria	Qty	Price	Savings	Price	SubTotal	Kits Total
504-BasePL8-t9	Teacher Complete 9 Study Kit: 226 Tests		588.09		470.47		
504-BasePL8-dr3	Teacher 3 Demo Refill Kit: 72 Tests		157.89		142.10		
504-BasePL8-sr6	Teacher 6 Study Refill Kit: 144 Tests		315.39		268.08		
504-BasePL8-sr9	Teacher 9 Study Refill Kit: 226 Tests		472.89		378.31		
504-BasePL8-P17	Teacher Replacement Posters: 17 Posters		115.59		104.03		
504-BasePL8-2	Contains 2 Sets of 8 tests = 16 Tests		48.99		41.29		
504-BasePL8-3	Contains 3 Sets of 8 tests = 24 Tests		55.99		46.59		
504-BasePL8-4	Contains 4 Sets of 8 tests = 32 Tests		61.99		50.99		
504-BasePL8-6	Contains 6 Sets of 8 tests = 48 Tests		75.39		61.19		
504-BasePL8-8	Contains 8 Sets of 8 tests = 64 Tests		87.99		71.39		
504-BasePL8-9	Contains 9 Sets of 8 tests = 72 Tests		94.39		75.69		
504-BasePL8-10	Contains 10 Sets of 8 tests = 80 Tests		100.69		80.69		
504-BasePL8-12			113.39		89.69		
	Contains 12 Sets of 8 tests = 96 Tests						
504-BasePL8-15	Contains 12 Sets of 8 tests = 96 Tests  Contains 15 Sets of 8 tests = 120 Tests		132.39		103.39		
504-BasePL8-15 504-BasePL8-18			132.39 151.39		103.39 118.19		
	Contains 15 Sets of 8 tests = 120 Tests						
504-BasePL8-18	Contains 15 Sets of 8 tests = 120 Tests  Contains 18 Sets of 8 tests = 144 Tests		151.39		118.19		
504-BasePL8-18 504-BasePL8-21	Contains 15 Sets of 8 tests = 120 Tests  Contains 18 Sets of 8 tests = 144 Tests  Contains 21 Sets of 8 tests = 168 Tests		151.39 170.39		118.19 133.09		
504-BasePL8-18 504-BasePL8-21 504-BasePL8-24	Contains 15 Sets of 8 tests = 120 Tests  Contains 18 Sets of 8 tests = 144 Tests  Contains 21 Sets of 8 tests = 168 Tests  Contains 24 Sets of 8 tests = 192 Tests		151.39 170.39 189.39		118.19 133.09 144.09		

			List		Online		
SKU	508 - Drinking Water Full Panel and Bacteria Tests	Qty	Price	Savings	Price	SubTotal	Kits Total
508-BaseFull10-t9	Teacher Complete 9 Study Kit: 270 Tests		659.19		527.35		
508-BaseFull10-dr3	Teacher 3 Demo Refill Kit: 90 Tests		172.49		155.24		
508-BaseFull10-sr6	Teacher 6 Study Refill Kit: 180 Tests		344.69		292.99		
508-BaseFull10-sr9	Teacher 9 Study Refill Kit: 270 Tests		516.79		413.43		
508-BaseFull10-P21	Teacher Replacement Posters: 21 Posters		142.69		128.42		
508-BaseFull10-2	Contains 2 Sets of 10 tests = 20 Tests		53.99		45.49		
508-BaseFull10-3	Contains 3 Sets of 10 tests = 30 Tests		62.99		52.39		
508-BaseFull10-4	Contains 4 Sets of 10 tests = 40 Tests		71.99		59.19		
508-BaseFull10-6	Contains 6 Sets of 10 tests = 60 Tests		89.99		72.99		
508-BaseFull10-8	Contains 8 Sets of 10 tests = 80 Tests		107.49		87.19		
508-BaseFull10-9	Contains 9 Sets of 10 tests = 90 Tests		116.29		93.19		
508-BaseFull10-10	Contains 10 Sets of 10 tests = 100 Tests		125.09		100.19		
508-BaseFull10-12	Contains 12 Sets of 10 tests = 120 Tests		142.69		112.89		
508-BaseFull10-15	Contains 15 Sets of 10 tests = 150 Tests		168.99		131.99		
508-BaseFull10-18	Contains 18 Sets of 10 tests = 180 Tests		195.29		152.49		
508-BaseFull10-21	Contains 21 Sets of 10 tests = 210 Tests		221.59		172.99		
508-BaseFull10-24	Contains 24 Sets of 10 tests = 240 Tests		247.99		188.59		
508-BaseFull10-27	Contains 27 Sets of 10 tests = 270 Tests		274.29		208.59		
508-BaseFull10-30	Contains 30 Sets of 10 tests = 300 Tests		300.59		228.59		
508-BaseFull10-33	Contains 33 Sets of 10 tests = 330 Tests		326.99		248.69		
SKU	514 - City Water Profile	Qty	Price	Savings	Price	SubTotal	Kits Total
514-CW6-t9	Teacher Complete 9 Study Kit: 162 Tests		471.59		377.27		
514-CW6-dr3	Teacher 3 Demo Refill Kit: 54 Tests		125.79		113.21		
514-CW6-sr6	Teacher 6 Study Refill Kit: 108 Tests		251.29		213.60		
514-CW6-sr9	Teacher 9 Study Refill Kit: 162 Tests		376.69		301.35		
514-CW6-P14	Teacher Replacement Posters: 14 Posters		95.29		85.76		
514-CW6-2	Contains 2 Sets of 6 tests = 12 Tests		42.99		35.79		
514-CW6-3	Contains 3 Sets of 6 tests = 18 Tests		46.99		38.69		
514-CW6-4	Contains 4 Sets of 6 tests = 24 Tests		56.29		45.69		
514-CW6-6	Contains 6 Sets of 6 tests = 36 Tests		64.79		52.59		
514-CW6-8	Contains 8 Sets of 6 tests = 48 Tests		69.09		55.39		
514-CW6-9	Contains 9 Sets of 6 tests = 54 Tests		73.29		58.79		
514-CW6-10	Contains 10 Sets of 6 tests = 60 Tests		81.79		64.79		
514-CW6-12	Contains 12 Sets of 6 tests = 72 Tests		94.49		73.89		
514-CW6-15	Contains 15 Sets of 6 tests = 90 Tests		107.29		83.79		
			119.99		93.69		
514-CW6-18	Contains 18 Sets of 6 tests = 108 Tests						1
514-CW6-18 514-CW6-21	Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		132.79		101.09		
514-CW6-21	Contains 21 Sets of 6 tests = 126 Tests						
514-CW6-21 514-CW6-24	Contains 21 Sets of 6 tests = 126 Tests  Contains 24 Sets of 6 tests = 144 Tests		132.79 145.49		110.69		
514-CW6-21	Contains 21 Sets of 6 tests = 126 Tests		132.79				

			List		Online		
SKU	518 - Well Water Profile	Qty	Price	Savings	Price	SubTotal	Kits Total
518-WW6-t9	Teacher Complete 9 Study Kit: 162 Tests		476.79		381.43		
518-WW6-dr3	Teacher 3 Demo Refill Kit: 54 Tests		125.29		112.76		
518-WW6-sr6	Teacher 6 Study Refill Kit: 108 Tests		250.19		212.66		
518-WW6-sr9	Teacher 9 Study Refill Kit: 162 Tests		375.09		300.07		
518-WW6-P15	Teacher Replacement Posters: 15 Posters		102.09		91.88		
518-WW6-2	Contains 2 Sets of 6 tests = 12 Tests		38.99		32.89		
518-WW6-3	Contains 3 Sets of 6 tests = 18 Tests		42.99		35.79		
518-WW6-4	Contains 4 Sets of 6 tests = 24 Tests		46.99		38.69		
518-WW6-6	Contains 6 Sets of 6 tests = 36 Tests		55.79		45.29		
518-WW6-8	Contains 8 Sets of 6 tests = 48 Tests		64.19		52.09		
518-WW6-9	Contains 9 Sets of 6 tests = 54 Tests		68.29		54.79		
518-WW6-10	Contains 10 Sets of 6 tests = 60 Tests		72.49		58.09		
518-WW6-12	Contains 12 Sets of 6 tests = 72 Tests		80.89		64.09		
518-WW6-15	Contains 15 Sets of 6 tests = 90 Tests		93.39		72.99		
518-WW6-18	Contains 18 Sets of 6 tests = 108 Tests		105.89		82.69		
518-WW6-21	Contains 21 Sets of 6 tests = 126 Tests		118.39		92.49		
518-WW6-24	Contains 24 Sets of 6 tests = 144 Tests		130.89		99.59		
518-WW6-27	Contains 27 Sets of 6 tests = 162 Tests		143.39		109.09		
518-WW6-30	Contains 30 Sets of 6 tests = 180 Tests		155.99		118.69		
518-WW6-33	Contains 33 Sets of 6 tests = 198 Tests		168.49		128.19		
SKU	522 - Public Drinking Water Fountain	Qty	Price	Savings	Price	SubTotal	Kits Total
522-DWF6-t9	Teacher Complete 9 Study Kit: 162 Tests		412.69		330.15		
522-DWF6-dr3							
	Teacher 3 Demo Refill Kit: 54 Tests		112.89		101.60		
522-DWF6-sr6	Teacher 3 Demo Refill Kit: 54 Tests  Teacher 6 Study Refill Kit: 108 Tests		112.89 225.49		101.60 191.67		
522-DWF6-sr6 522-DWF6-sr9							
	Teacher 6 Study Refill Kit: 108 Tests		225.49		191.67		
522-DWF6-sr9	Teacher 6 Study Refill Kit: 108 Tests Teacher 9 Study Refill Kit: 162 Tests		225.49 338.09		191.67 270.47		
522-DWF6-sr9 522-DWF6-P11	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters		225.49 338.09 74.89		191.67 270.47 67.40		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2	Teacher 6 Study Refill Kit: 108 Tests Teacher 9 Study Refill Kit: 162 Tests Teacher Replacement Posters: 11 Posters Contains 2 Sets of 6 tests = 12 Tests		225.49 338.09 74.89 33.99		191.67 270.47 67.40 28.69		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3	Teacher 6 Study Refill Kit: 108 Tests Teacher 9 Study Refill Kit: 162 Tests Teacher Replacement Posters: 11 Posters Contains 2 Sets of 6 tests = 12 Tests Contains 3 Sets of 6 tests = 18 Tests		225.49 338.09 74.89 33.99 38.99		191.67 270.47 67.40 28.69 32.49		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests		225.49 338.09 74.89 33.99 38.99 43.99		191.67 270.47 67.40 28.69 32.49 36.19		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6	Teacher 6 Study Refill Kit: 108 Tests Teacher 9 Study Refill Kit: 162 Tests Teacher Replacement Posters: 11 Posters Contains 2 Sets of 6 tests = 12 Tests Contains 3 Sets of 6 tests = 18 Tests Contains 4 Sets of 6 tests = 24 Tests Contains 6 Sets of 6 tests = 36 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-8	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9 522-DWF6-10 522-DWF6-12	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29 74.19		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59 59.49		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9 522-DWF6-10 522-DWF6-12	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29 74.19 83.99 98.69		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59 59.49 66.49 77.09		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9 522-DWF6-10 522-DWF6-12 522-DWF6-15 522-DWF6-18	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29 74.19 83.99 98.69 113.39		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59 59.49 66.49 77.09 88.59		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9 522-DWF6-10 522-DWF6-12 522-DWF6-15 522-DWF6-18 522-DWF6-21	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29 74.19 83.99 98.69 113.39 128.09		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59 59.49 66.49 77.09 88.59 100.09		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9 522-DWF6-10 522-DWF6-12 522-DWF6-15 522-DWF6-18 522-DWF6-21 522-DWF6-24	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests  Contains 24 Sets of 6 tests = 144 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29 74.19 83.99 98.69 113.39 128.09		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59 59.49 66.49 77.09 88.59 100.09 108.69		
522-DWF6-sr9 522-DWF6-P11 522-DWF6-2 522-DWF6-3 522-DWF6-4 522-DWF6-6 522-DWF6-9 522-DWF6-10 522-DWF6-12 522-DWF6-15 522-DWF6-18 522-DWF6-21	Teacher 6 Study Refill Kit: 108 Tests  Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		225.49 338.09 74.89 33.99 38.99 43.99 54.59 64.39 69.29 74.19 83.99 98.69 113.39 128.09		191.67 270.47 67.40 28.69 32.49 36.19 44.39 52.29 55.59 59.49 66.49 77.09 88.59 100.09		

			List		Online		
SKU	524 - Compare Drinking and Bottle Water - Beginner	Qty	Price	Savings	Price	SubTotal	Kits Total
524-DvsB5-t9	Teacher Complete 9 Study Kit: 135 Tests		286.99		229.59		
524-DvsB5-dr3	Teacher 3 Demo Refill Kit: 45 Tests		75.59		68.03		
524-DvsB5-sr6	Teacher 6 Study Refill Kit: 90 Tests		150.79		128.17		
524-DvsB5-sr9	Teacher 9 Study Refill Kit: 135 Tests		225.99		180.79		
524-DvsB5-P9	Teacher Replacement Posters: 9 Posters		61.39		55.25		
524-DvsB5-2	Student Kit:2 Sets of 5 tests = 10 Tests		21.99		18.59		
524-DvsB5-3	Student Kit:3 Sets of 5 tests = 15 Tests		23.99		20.09		
524-DvsB5-4	Student Kit:4 Sets of 5 tests = 20 Tests		25.99		21.49		
524-DvsB5-6	Student Kit:6 Sets of 5 tests = 30 Tests		30.79		25.09		
524-DvsB5-8	Student Kit:8 Sets of 5 tests = 40 Tests		34.89		28.39		
524-DvsB5-9	Student Kit:9 Sets of 5 tests = 45 Tests		36.89		29.69		
524-DvsB5-10	Student Kit:10 Sets of 5 tests = 50 Tests		38.99		31.29		
524-DvsB5-12	Student Kit:12 Sets of 5 tests = 60 Tests		43.09		34.19		
524-DvsB5-15	Student Kit:15 Sets of 5 tests = 75 Tests		49.19		38.49		
524-DvsB5-18	Student Kit:18 Sets of 5 tests = 90 Tests		55.39		43.39		
524-DvsB5-21	Student Kit:21 Sets of 5 tests = 105 Tests		61.49		48.09		
524-DvsB5-24	Student Kit:24 Sets of 5 tests = 120 Tests		67.69		51.59		
524-DvsB5-27	Student Kit:27 Sets of 5 tests = 135 Tests		73.79		56.19		
524-DvsB5-30	Student Kit:30 Sets of 5 tests = 150 Tests		79.99		60.89		
524-DvsB5-33	Student Kit:33 Sets of 5 tests = 165 Tests		86.09		65.59		
SKU	526 - Compare Drinking and Bottle Water - Advanced	Qty	Price	Savings	Price	SubTotal	Kits Total
526-AdDvB7-t9	Teacher Complete 9 Study Kit: 189 Tests		469.99		375.99		
526-AdDvB7-dr3	Teacher 3 Demo Refill Kit: 63 Tests		127.49		114.74		
526-AdDvB7-sr6	Teacher 6 Study Refill Kit: 126 Tests		254.69		216.49		
526-AdDvB7-sr9	Teacher 9 Study Refill Kit: 189 Tests		381.79		305.43		
526-AdDvB7-P13	Teacher Replacement Posters: 13 Posters						
526-AdDvsB7-2			88.49		79.64		
	Contains 2 Sets of 7 tests = 14 Tests		38.49 38.99		79.64 32.89		
526-AdDvsB7-3	Contains 2 Sets of 7 tests = 14 Tests  Contains 3 Sets of 7 tests = 21 Tests						
526-AdDvsB7-3 526-AdDvsB7-4			38.99		32.89		
	Contains 3 Sets of 7 tests = 21 Tests		38.99 43.99		32.89 36.69		
526-AdDvsB7-4	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests		38.99 43.99 47.99		32.89 36.69 39.49		
526-AdDvsB7-4 526-AdDvsB7-6	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests		38.99 43.99 47.99 57.89		32.89 36.69 39.49 46.99		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8 526-AdDvsB7-9	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests		38.99 43.99 47.99 57.89 66.79		32.89 36.69 39.49 46.99 54.19		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests		38.99 43.99 47.99 57.89 66.79 71.29		32.89 36.69 39.49 46.99 54.19 57.19		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8 526-AdDvsB7-9 526-AdDvsB7-10	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests  Contains 10 Sets of 7 tests = 70 Tests		38.99 43.99 47.99 57.89 66.79 71.29 75.79		32.89 36.69 39.49 46.99 54.19 57.19 60.79		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8 526-AdDvsB7-9 526-AdDvsB7-10 526-AdDvsB7-12	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests  Contains 10 Sets of 7 tests = 70 Tests  Contains 12 Sets of 7 tests = 84 Tests		38.99 43.99 47.99 57.89 66.79 71.29 75.79 84.79		32.89 36.69 39.49 46.99 54.19 57.19 60.79 67.09		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8 526-AdDvsB7-9 526-AdDvsB7-10 526-AdDvsB7-12 526-AdDvsB7-12	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests  Contains 10 Sets of 7 tests = 70 Tests  Contains 12 Sets of 7 tests = 84 Tests  Contains 15 Sets of 7 tests = 105 Tests		38.99 43.99 47.99 57.89 66.79 71.29 75.79 84.79 98.29		32.89 36.69 39.49 46.99 54.19 57.19 60.79 67.09 76.79		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8 526-AdDvsB7-9 526-AdDvsB7-10 526-AdDvsB7-12 526-AdDvsB7-15 526-AdDvsB7-18	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests  Contains 10 Sets of 7 tests = 70 Tests  Contains 12 Sets of 7 tests = 84 Tests  Contains 15 Sets of 7 tests = 105 Tests  Contains 18 Sets of 7 tests = 126 Tests		38.99 43.99 47.99 57.89 66.79 71.29 75.79 84.79 98.29 111.69		32.89 36.69 39.49 46.99 54.19 57.19 60.79 67.09 76.79 87.29		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-9 526-AdDvsB7-10 526-AdDvsB7-12 526-AdDvsB7-15 526-AdDvsB7-18 526-AdDvsB7-21 526-AdDvsB7-21	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests  Contains 10 Sets of 7 tests = 70 Tests  Contains 12 Sets of 7 tests = 84 Tests  Contains 15 Sets of 7 tests = 105 Tests  Contains 18 Sets of 7 tests = 126 Tests  Contains 21 Sets of 7 tests = 147 Tests		38.99 43.99 47.99 57.89 66.79 71.29 75.79 84.79 98.29 111.69 125.19 138.69		32.89 36.69 39.49 46.99 54.19 57.19 60.79 67.09 76.79 87.29 97.79		
526-AdDvsB7-4 526-AdDvsB7-6 526-AdDvsB7-8 526-AdDvsB7-9 526-AdDvsB7-10 526-AdDvsB7-12 526-AdDvsB7-15 526-AdDvsB7-18 526-AdDvsB7-21	Contains 3 Sets of 7 tests = 21 Tests  Contains 4 Sets of 7 tests = 28 Tests  Contains 6 Sets of 7 tests = 42 Tests  Contains 8 Sets of 7 tests = 56 Tests  Contains 9 Sets of 7 tests = 63 Tests  Contains 10 Sets of 7 tests = 70 Tests  Contains 12 Sets of 7 tests = 84 Tests  Contains 15 Sets of 7 tests = 105 Tests  Contains 18 Sets of 7 tests = 126 Tests  Contains 21 Sets of 7 tests = 147 Tests  Contains 24 Sets of 7 tests = 168 Tests		38.99 43.99 47.99 57.89 66.79 71.29 75.79 84.79 98.29 111.69 125.19		32.89 36.69 39.49 46.99 54.19 57.19 60.79 67.09 76.79 87.29 97.79 105.59		

			List		Online		
SKU	532 - EPA Free Chlorine in Drinking Water	Qty	Price	Savings	Price	SubTotal	Kits Total
532-EPACI3-t9	Teacher Complete 9 Study Kit: 81 Tests		288.89		231.11		
532-EPACI3-dr3	Teacher 3 Demo Refill Kit: 27 Tests		76.19		68.57		
532-EPACI3-sr6	Teacher 6 Study Refill Kit: 54 Tests		151.99		129.19		
532-EPACI3-sr9	Teacher 9 Study Refill Kit: 81 Tests		227.89		182.31		
532-EPACI3-P9	Teacher Replacement Posters: 9 Posters		61.39		55.25		
532-EPACI3-2	Contains 2 Sets of 3 tests = 6 Tests		21.99		18.59		
532-EPACI3-3	Contains 3 Sets of 3 tests = 9 Tests		23.99		20.09		
532-EPACI3-4	Contains 4 Sets of 3 tests = 12 Tests		26.99		22.29		
532-EPACI3-6	Contains 6 Sets of 3 tests = 18 Tests		31.29		25.49		
532-EPACI3-8	Contains 8 Sets of 3 tests = 24 Tests		35.59		28.99		
532-EPACI3-9	Contains 9 Sets of 3 tests = 27 Tests		37.79		30.39		
532-EPACI3-10	Contains 10 Sets of 3 tests = 30 Tests		39.89		32.09		
532-EPACI3-12	Contains 12 Sets of 3 tests = 36 Tests		44.19		35.09		
532-EPACI3-15	Contains 15 Sets of 3 tests = 45 Tests		50.59		39.59		
532-EPACI3-18	Contains 18 Sets of 3 tests = 54 Tests		56.99		44.59		
532-EPACI3-21	Contains 21 Sets of 3 tests = 63 Tests		63.39		49.59		
532-EPACI3-24	Contains 24 Sets of 3 tests = 72 Tests		69.89		53.29		
532-EPACI3-27	Contains 27 Sets of 3 tests = 81 Tests		76.29		58.09		
532-EPACI3-30	Contains 30 Sets of 3 tests = 90 Tests		82.69		62.99		
532-EPACI3-33	Contains 33 Sets of 3 tests = 99 Tests		89.09		67.89		
SKU	534 - Essential Minerals	Qty	Price	Savings	Price	SubTotal	Kits Total
534-EssenMin5-t9	Teacher Complete 9 Study Kit: 135 Tests		417.89		334.31		
534-EssenMin5-dr3	Teacher 3 Demo Refill Kit: 45 Tests		112.39		101.15		
534-EssenMin5-sr6	Teacher 6 Study Refill Kit: 90 Tests		224.49		190.82		
534-EssenMin5-sr9	Teacher 9 Study Refill Kit: 135 Tests		336.49		269.19		
534-EssenMin5-P12	Teacher Replacement Posters: 12 Posters		81.69		73.52		
534-EssenMin5-2	Contains 2 Sets of 5 tests = 10 Tests		33.99		28.69		
534-EssenMin5-3							
534-EssenMin5-4	Contains 3 Sets of 5 tests = 15 Tests		38.99		32.49		
JJ4-L556HMH13-4	Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests						
534-EssenMin5-4 534-EssenMin5-6			38.99		32.49		
	Contains 4 Sets of 5 tests = 20 Tests		38.99 43.99		32.49 36.19		
534-EssenMin5-6	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests		38.99 43.99 54.79		32.49 36.19 44.49		
534-EssenMin5-6 534-EssenMin5-8	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests		38.99 43.99 54.79 64.79		32.49 36.19 44.49 52.59		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests		38.99 43.99 54.79 64.79 69.79		32.49 36.19 44.49 52.59 55.99		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9 534-EssenMin5-10	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests		38.99 43.99 54.79 64.79 69.79 74.79		32.49 36.19 44.49 52.59 55.99 59.99		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9 534-EssenMin5-10 534-EssenMin5-12	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests		38.99 43.99 54.79 64.79 69.79 74.79 84.69		32.49 36.19 44.49 52.59 55.99 59.99 67.09		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9 534-EssenMin5-10 534-EssenMin5-12 534-EssenMin5-15	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests		38.99 43.99 54.79 64.79 69.79 74.79 84.69 99.69		32.49 36.19 44.49 52.59 55.99 59.99 67.09 77.89		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9 534-EssenMin5-10 534-EssenMin5-12 534-EssenMin5-15 534-EssenMin5-18	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests		38.99 43.99 54.79 64.79 69.79 74.79 84.69 99.69 114.69		32.49 36.19 44.49 52.59 55.99 59.99 67.09 77.89 89.59		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9 534-EssenMin5-10 534-EssenMin5-12 534-EssenMin5-15 534-EssenMin5-18	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests		38.99 43.99 54.79 64.79 69.79 74.79 84.69 99.69 114.69		32.49 36.19 44.49 52.59 55.99 59.99 67.09 77.89 89.59 101.19		
534-EssenMin5-6 534-EssenMin5-8 534-EssenMin5-9 534-EssenMin5-10 534-EssenMin5-12 534-EssenMin5-15 534-EssenMin5-18 534-EssenMin5-21 534-EssenMin5-24	Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests  Contains 24 Sets of 5 tests = 120 Tests		38.99 43.99 54.79 64.79 69.79 74.79 84.69 99.69 114.69 129.59 144.59		32.49 36.19 44.49 52.59 55.99 67.09 77.89 89.59 101.19		

			List		Online		
SKU	536 - Balanced Minerals	Qty	Price	Savings	Price	SubTotal	Kits Total
536-BalMin7-t9	Teacher Resource Kit: 14 Complete Tests		500.39		400.31		
536-BalMin7-dr3	Teacher 3 Demo Refill Kit: 63 Tests		135.39		121.85		
536-BalMin7-sr6	Teacher 6 Study Refill Kit: 126 Tests		270.39		229.83		
536-BalMin7-sr9	Teacher 9 Study Refill Kit: 189 Tests		405.39		324.31		
536-BalMin7-P14	Teacher Replacement Posters: 14 Posters		95.29		85.76		
536-BalMin7-2	Contains 2 Sets of 7 tests = 14 Tests		41.99		35.39		
536-BalMin7-3	Contains 3 Sets of 7 tests = 21 Tests		47.99		39.99		
536-BalMin7-4	Contains 4 Sets of 7 tests = 28 Tests		52.99		43.59		
536-BalMin7-6	Contains 6 Sets of 7 tests = 42 Tests		64.99		52.79		
536-BalMin7-8	Contains 8 Sets of 7 tests = 56 Tests		76.19		61.89		
536-BalMin7-9	Contains 9 Sets of 7 tests = 63 Tests		81.79		65.59		
536-BalMin7-10	Contains 10 Sets of 7 tests = 70 Tests		87.39		70.09		
536-BalMin7-12	Contains 12 Sets of 7 tests = 84 Tests		98.69		78.09		
536-BalMin7-15	Contains 15 Sets of 7 tests = 105 Tests		115.49		90.19		
536-BalMin7-18	Contains 18 Sets of 7 tests = 126 Tests		132.29		103.29		
536-BalMin7-21	Contains 21 Sets of 7 tests = 147 Tests		149.19		116.49		
536-BalMin7-24	Contains 24 Sets of 7 tests = 168 Tests		165.99		126.29		
536-BalMin7-27	Contains 27 Sets of 7 tests = 189 Tests		182.89		139.09		
536-BalMin7-30	Contains 30 Sets of 7 tests = 210 Tests		199.69		151.89		
536-BalMin7-33	Contains 33 Sets of 7 tests = 231 Tests		216.59		164.79		
SKU	538 - Environmental and Outdoor Water	Qty	Price	Savings	Price	SubTotal	Kits Total
538-Out4-t9	Toacher Complete O Study Kity 109 Tests		380.49		304.39		
	Teacher Complete 9 Study Kit: 108 Tests		360.49		304.33		
538-Out4-dr3	Teacher 3 Demo Refill Kit: 36 Tests		99.89		89.90		
538-Out4-dr3 538-Out4-sr6	, ,						
	Teacher 3 Demo Refill Kit: 36 Tests		99.89		89.90		
538-Out4-sr6	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests		99.89 199.49		89.90 169.57		
538-Out4-sr6 538-Out4-sr9	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests		99.89 199.49 299.09		89.90 169.57 239.27		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters		99.89 199.49 299.09 81.69		89.90 169.57 239.27 73.52		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests		99.89 199.49 299.09 81.69 29.99		89.90 169.57 239.27 73.52 25.29		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests		99.89 199.49 299.09 81.69 29.99 32.99		89.90 169.57 239.27 73.52 25.29 27.49		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99		89.90 169.57 239.27 73.52 25.29 27.49 29.69		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9 538-Out4-10 538-Out4-12	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests  Contains 10 Sets of 6 tests = 40 Tests  Contains 12 Sets of 6 tests = 48 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99 54.99		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69 44.09		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9 538-Out4-10 538-Out4-12 538-Out4-15	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests  Contains 10 Sets of 6 tests = 40 Tests  Contains 12 Sets of 6 tests = 48 Tests  Contains 15 Sets of 6 tests = 60 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99 54.99 61.09 70.29		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69 44.09 48.39 54.99		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9 538-Out4-10 538-Out4-12 538-Out4-15 538-Out4-18	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests  Contains 10 Sets of 6 tests = 40 Tests  Contains 12 Sets of 6 tests = 48 Tests  Contains 15 Sets of 6 tests = 60 Tests  Contains 15 Sets of 6 tests = 72 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99 54.99 61.09 70.29		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69 44.09 48.39 54.99 62.09		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9 538-Out4-10 538-Out4-12 538-Out4-15 538-Out4-18 538-Out4-18	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests  Contains 10 Sets of 6 tests = 40 Tests  Contains 12 Sets of 6 tests = 48 Tests  Contains 15 Sets of 6 tests = 60 Tests  Contains 18 Sets of 6 tests = 72 Tests  Contains 21 Sets of 6 tests = 84 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99 54.99 61.09 70.29 79.39 88.49		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69 44.09 48.39 54.99 62.09 69.19		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9 538-Out4-10 538-Out4-12 538-Out4-15 538-Out4-15 538-Out4-18 538-Out4-21	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests  Contains 10 Sets of 6 tests = 40 Tests  Contains 12 Sets of 6 tests = 48 Tests  Contains 15 Sets of 6 tests = 60 Tests  Contains 18 Sets of 6 tests = 72 Tests  Contains 21 Sets of 6 tests = 84 Tests  Contains 21 Sets of 6 tests = 94 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99 61.09 70.29 79.39 88.49 97.69		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69 44.09 48.39 54.99 62.09 69.19 74.39		
538-Out4-sr6 538-Out4-sr9 538-Out4-P12 538-Out4-2 538-Out4-3 538-Out4-4 538-Out4-6 538-Out4-8 538-Out4-9 538-Out4-10 538-Out4-12 538-Out4-15 538-Out4-18 538-Out4-18	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 12 Posters  Contains 2 Sets of 6 tests = 8 Tests  Contains 3 Sets of 6 tests = 12 Tests  Contains 4 Sets of 6 tests = 16 Tests  Contains 6 Sets of 6 tests = 24 Tests  Contains 8 Sets of 6 tests = 32 Tests  Contains 9 Sets of 6 tests = 36 Tests  Contains 10 Sets of 6 tests = 40 Tests  Contains 12 Sets of 6 tests = 48 Tests  Contains 15 Sets of 6 tests = 60 Tests  Contains 18 Sets of 6 tests = 72 Tests  Contains 21 Sets of 6 tests = 84 Tests		99.89 199.49 299.09 81.69 29.99 32.99 35.99 42.89 48.99 51.99 54.99 61.09 70.29 79.39 88.49		89.90 169.57 239.27 73.52 25.29 27.49 29.69 34.89 39.79 41.69 44.09 48.39 54.99 62.09 69.19		

			List		Online		
SKU	540 - Environmental and Outdoor Water Plus Bacteria	Qty	Price	Savings	Price	SubTotal	Kits Total
540-OutPL5-t9	Teacher Resource Kit: 12 Complete 108 Tests		499.39		399.51		
540-OutPL5-dr3	Teacher 3 Demo Refill Kit: 36 Tests		137.29		123.56		
540-OutPL5-sr6	Teacher 6 Study Refill Kit: 72 Tests		274.29		233.15		
540-OutPL5-sr9	Teacher 9 Study Refill Kit: 108 Tests		411.19		328.95		
540-OutPL5-P13	Teacher Replacement Posters: 12 Posters		88.49		79.64		
540-OutPL5-2	Contains 2 Sets of 5 tests = 10 Tests		42.99		36.29		
540-OutPL5-3	Contains 3 Sets of 5 tests = 15 Tests		47.99		39.99		
540-OutPL5-4	Contains 4 Sets of 5 tests = 20 Tests		53.99		44.39		
540-OutPL5-6	Contains 6 Sets of 5 tests = 30 Tests		66.69		54.19		
540-OutPL5-8	Contains 8 Sets of 5 tests = 40 Tests		78.49		63.69		
540-OutPL5-9	Contains 9 Sets of 5 tests = 45 Tests		84.39		67.69		
540-OutPL5-10	Contains 10 Sets of 5 tests = 50 Tests		90.29		72.39		
540-OutPL5-12	Contains 12 Sets of 5 tests = 60 Tests		102.09		80.79		
540-OutPL5-15	Contains 15 Sets of 5 tests = 75 Tests		119.69		93.49		
540-OutPL5-18	Contains 18 Sets of 5 tests = 90 Tests		137.39		107.29		
540-OutPL5-21	Contains 21 Sets of 5 tests = 105 Tests		155.09		121.09		
540-OutPL5-24	Contains 24 Sets of 5 tests = 120 Tests		172.79		131.49		
540-OutPL5-27	Contains 27 Sets of 5 tests = 135 Tests		190.39		144.79		
540-OutPL5-30	Contains 30 Sets of 5 tests = 150 Tests		208.09		158.29		
540-OutPL5-33	Contains 33 Sets of 5 tests = 165 Tests		225.79		171.79		
SKU	544 - Environmental and Outdoor Water Full Panel and Bact	Qty	Price	Savings	Price	SubTotal	Kits Total
544-OutFull10-t9	Teacher Complete 9 Study Kit: 270 Tests		859.39		687.51		
544-OutFull10-dr3	Teacher 3 Demo Refill Kit: 90 Tests		236.99		213.29		
544-OutFull10-sr6	Teacher 6 Study Refill Kit: 180 Tests		473.59		402.55		
544-OutFull10-sr9	Teacher 9 Study Refill Kit: 270 Tests		710.19		568.15		
544-OutFull10-P22	Teacher Replacement Posters: 22 Posters		149.49		134.54		
544-OutFull10-2	Contains 2 Sets of 10 tests = 20 Tests		75.99		63.99		
544-OutFull10-3	Contains 3 Sets of 10 tests = 30 Tests		85.99		71.49		
544-OutFull10-4	Contains 4 Sets of 10 tests = 40 Tests		95.99		78.89		
544-OutFull10-6	Contains 6 Sets of 10 tests = 60 Tests		116.49		94.49		
544-OutFull10-8	Contains 8 Sets of 10 tests = 80 Tests		136.59		110.79		
544-OutFull10-9			146.60		117.49		
JTT OULI UIIIO J	Contains 9 Sets of 10 tests = 90 Tests		146.69		11/.45		
544-OutFull10-10	Contains 9 Sets of 10 tests = 90 Tests  Contains 10 Sets of 10 tests = 100 Tests						
			156.69 176.79		125.49 139.79		
544-OutFull10-10	Contains 10 Sets of 10 tests = 100 Tests		156.69		125.49		
544-OutFull10-10 544-OutFull10-12	Contains 10 Sets of 10 tests = 100 Tests  Contains 12 Sets of 10 tests = 120 Tests		156.69 176.79		125.49 139.79		
544-OutFull10-10 544-OutFull10-12 544-OutFull10-15	Contains 10 Sets of 10 tests = 100 Tests  Contains 12 Sets of 10 tests = 120 Tests  Contains 15 Sets of 10 tests = 150 Tests		156.69 176.79 206.89		125.49 139.79 161.49		
544-OutFull10-10 544-OutFull10-12 544-OutFull10-15 544-OutFull10-18	Contains 10 Sets of 10 tests = 100 Tests  Contains 12 Sets of 10 tests = 120 Tests  Contains 15 Sets of 10 tests = 150 Tests  Contains 18 Sets of 10 tests = 180 Tests		156.69 176.79 206.89 237.09		125.49 139.79 161.49 185.09		
544-OutFull10-10 544-OutFull10-12 544-OutFull10-15 544-OutFull10-18 544-OutFull10-21	Contains 10 Sets of 10 tests = 100 Tests  Contains 12 Sets of 10 tests = 120 Tests  Contains 15 Sets of 10 tests = 150 Tests  Contains 18 Sets of 10 tests = 180 Tests  Contains 21 Sets of 10 tests = 210 Tests		156.69 176.79 206.89 237.09 267.19		125.49 139.79 161.49 185.09 208.59		
544-OutFull10-10 544-OutFull10-12 544-OutFull10-15 544-OutFull10-18 544-OutFull10-21 544-OutFull10-24	Contains 10 Sets of 10 tests = 100 Tests  Contains 12 Sets of 10 tests = 120 Tests  Contains 15 Sets of 10 tests = 150 Tests  Contains 18 Sets of 10 tests = 180 Tests  Contains 21 Sets of 10 tests = 210 Tests  Contains 24 Sets of 10 tests = 240 Tests		156.69 176.79 206.89 237.09 267.19 297.29		125.49 139.79 161.49 185.09 208.59 226.09		

			List		Online		
SKU	550 - Aquatic and Algae Growth Nutrients	Qty	Price	Savings	Price	SubTotal	Kits Total
550-AqNutrnt5-t9	Teacher Complete 9 Study Kit: 135 Tests		311.19		248.95		
550-AqNutrnt5-dr3	Teacher 3 Demo Refill Kit: 45 Tests		81.39		73.25		
550-AqNutrnt5-sr6	Teacher 6 Study Refill Kit: 90 Tests		162.39		138.03		
550-AqNutrnt5-sr9	Teacher 9 Study Refill Kit: 135 Tests		243.39		194.71		
550-AqNutrnt5-P10	Teacher Replacement Posters: 10 Posters		68.19		61.37		
550-AqNutrnt5-2	Contains 2 Sets of 5 tests = 10 Tests		23.99		20.29		
550-AqNutrnt5-3	Contains 3 Sets of 5 tests = 15 Tests		26.99		22.59		
550-AqNutrnt5-4	Contains 4 Sets of 5 tests = 20 Tests		29.99		24.69		
550-AqNutrnt5-6	Contains 6 Sets of 5 tests = 30 Tests		35.99		29.29		
550-AqNutrnt5-8	Contains 8 Sets of 5 tests = 40 Tests		41.79		33.99		
550-AqNutrnt5-9	Contains 9 Sets of 5 tests = 45 Tests		44.69		35.89		
550-AqNutrnt5-10	Contains 10 Sets of 5 tests = 50 Tests		47.59		38.19		
550-AqNutrnt5-12	Contains 12 Sets of 5 tests = 60 Tests		53.29		42.19		
550-AqNutrnt5-15	Contains 15 Sets of 5 tests = 75 Tests		61.99		48.49		
550-AqNutrnt5-18	Contains 18 Sets of 5 tests = 90 Tests		70.59		55.19		
550-AqNutrnt5-21	Contains 21 Sets of 5 tests = 105 Tests		79.19		61.89		
550-AqNutrnt5-24	Contains 24 Sets of 5 tests = 120 Tests		87.89		66.89		
550-AqNutrnt5-27	Contains 27 Sets of 5 tests = 135 Tests		96.49		73.49		
550-AqNutrnt5-30	Contains 30 Sets of 5 tests = 150 Tests		105.19		80.09		
550-AqNutrnt5-33	Contains 33 Sets of 5 tests = 165 Tests		113.79		86.59		
SKU	552 - Lake, Pond and River Essential Minerals	Qty	Price	Savings	Price	SubTotal	Kits Total
552-LakeRivMin5-t9	Teacher Complete 9 Study Kit: 135 Tests		414.49		331.59		
552-LakeRivMin5-dr3							
	Teacher 3 Demo Refill Kit: 45 Tests		113.59		102.23		
552-LakeRivMin5-sr6	Teacher 3 Demo Refill Kit: 45 Tests Teacher 6 Study Refill Kit: 90 Tests		113.59 226.79		102.23 192.77		
552-LakeRivMin5-sr6 552-LakeRivMin5-sr9							
	Teacher 6 Study Refill Kit: 90 Tests		226.79		192.77		
552-LakeRivMin5-sr9	Teacher 6 Study Refill Kit: 90 Tests Teacher 9 Study Refill Kit: 135 Tests		226.79 339.99		192.77 271.99		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters		226.79 339.99 74.89		192.77 271.99 67.40		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests		226.79 339.99 74.89 34.99		192.77 271.99 67.40 29.49		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests		226.79 339.99 74.89 34.99 39.99		192.77 271.99 67.40 29.49 33.29		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests		226.79 339.99 74.89 34.99 39.99 44.99		192.77 271.99 67.40 29.49 33.29 36.99		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 65.19		192.77 271.99 67.40 29.49 33.29 36.99 44.89		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 65.19 70.19		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 56.29		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 65.19		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9 552-LakeRivMin5-10 552-LakeRivMin5-12	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 65.19 70.19 75.09		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 56.29 60.19 67.39		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9 552-LakeRivMin5-10 552-LakeRivMin5-12 552-LakeRivMin5-15	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 65.19 70.19 75.09 85.09 100.09		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 56.29 60.19 67.39 78.19		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9 552-LakeRivMin5-10 552-LakeRivMin5-12 552-LakeRivMin5-12	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 65.19 70.19 75.09 85.09 100.09 114.99		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 56.29 60.19 67.39 78.19 89.79		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9 552-LakeRivMin5-10 552-LakeRivMin5-12 552-LakeRivMin5-15 552-LakeRivMin5-15 552-LakeRivMin5-18	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 70.19 75.09 85.09 100.09 114.99 129.99		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 60.19 67.39 78.19 89.79 101.49		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9 552-LakeRivMin5-10 552-LakeRivMin5-12 552-LakeRivMin5-15 552-LakeRivMin5-15 552-LakeRivMin5-18 552-LakeRivMin5-21	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests  Contains 24 Sets of 5 tests = 120 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 70.19 75.09 85.09 100.09 114.99 129.99 144.99		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 60.19 67.39 78.19 89.79 101.49 110.29		
552-LakeRivMin5-sr9 552-LakeRivMin5-P11 552-LakeRivMin5-2 552-LakeRivMin5-3 552-LakeRivMin5-4 552-LakeRivMin5-6 552-LakeRivMin5-8 552-LakeRivMin5-9 552-LakeRivMin5-10 552-LakeRivMin5-12 552-LakeRivMin5-15 552-LakeRivMin5-15 552-LakeRivMin5-18	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests		226.79 339.99 74.89 34.99 39.99 44.99 55.19 70.19 75.09 85.09 100.09 114.99 129.99		192.77 271.99 67.40 29.49 33.29 36.99 44.89 52.99 60.19 67.39 78.19 89.79 101.49		

			List		Online	
SKU	556 - Minerals and Nutrients Water Panel	Qty	Price	Savings	Price	SubTotal Kits Total
556-MinNut8-t9	Teacher Complete 9 Study Kit: 226 Tests		571.89	0.00	457.51	0.00
556-MinNut8-dr3	Teacher 3 Demo Refill Kit: 72 Tests		154.69	0.00	139.22	0.00
556-MinNut8-sr6	Teacher 6 Study Refill Kit: 144 Tests		308.99	0.00	262.64	0.00
556-MinNut8-sr9	Teacher 9 Study Refill Kit: 226 Tests		463.39	0.00	370.71	0.00
556-MinNut8-P16	Teacher Replacement Posters: 16 Posters		108.79	0.00	97.91	0.00
556-MinNut8-2	Contains 2 Sets of 8 tests = 16 Tests		47.99	0.00	40.49	0.00
556-MinNut8-3	Contains 3 Sets of 8 tests = 24 Tests		53.99	0.00	44.99	0.00
556-MinNut8-4	Contains 4 Sets of 8 tests = 32 Tests		59.99	0.00	49.29	0.00
556-MinNut8-6	Contains 6 Sets of 8 tests = 48 Tests		71.39	0.00	57.99	0.00
556-MinNut8-8	Contains 8 Sets of 8 tests = 64 Tests		82.59	0.00	66.99	0.00
556-MinNut8-9	Contains 9 Sets of 8 tests = 72 Tests		88.29	0.00	70.79	0.00
556-MinNut8-10	Contains 10 Sets of 8 tests = 80 Tests		93.89	0.00	75.29	0.00
556-MinNut8-12	Contains 12 Sets of 8 tests = 96 Tests		105.09	0.00	83.19	0.00
556-MinNut8-15	Contains 15 Sets of 8 tests = 120 Tests		121.89	0.00	95.19	0.00
556-MinNut8-18	Contains 18 Sets of 8 tests = 144 Tests		138.79	0.00	108.39	0.00
556-MinNut8-21	Contains 21 Sets of 8 tests = 168 Tests		155.59 172.49	0.00	121.49	0.00
556-MinNut8-24 556-MinNut8-27	Contains 24 Sets of 8 tests = 192 Tests  Contains 27 Sets of 8 tests = 216 Tests		189.29	0.00	131.19 143.99	0.00
556-MinNut8-30	Contains 30 Sets of 8 tests = 240 Tests		206.19	0.00	156.89	0.00
556-MinNut8-33	Contains 33 Sets of 8 tests = 240 Tests  Contains 33 Sets of 8 tests = 264 Tests		222.99	0.00	169.59	0.00
SKU	562 - Salt - Brackish - Estuary Water	Qty	Price	Savings	Price	SubTotal Kits Total
562-SalinitypH2-t9	Teacher Complete 9 Study Kit: 54 Tests		232.39		185.91	
562-SalinitypH2-dr3	Teacher 3 Demo Refill Kit: 18 Tests		57.39		51.65	
562-SalinitypH2-sr6	Teacher 6 Study Refill Kit: 36 Tests		114.39		97.23	
562-SalinitypH2-sr9	Teacher 9 Study Refill Kit: 54 Tests		171.39		137.11	
562-SalinitypH2-P9	Teacher Replacement Posters: 9 Posters		61.39		55.25	
, .	Contains 2 Sets of 2 tests = 4 Tests		15.99		13.59	
562-SalinitypH2-2 562-SalinitypH2-3	Contains 2 Sets of 2 tests = 4 Tests  Contains 3 Sets of 2 tests = 6 Tests		17.99		15.09	
,,	Contains 4 Sets of 2 tests = 8 Tests		18.99		15.69	
562-SalinitypH2-4 562-SalinitypH2-6	Contains 4 Sets of 2 tests = 6 Tests  Contains 6 Sets of 2 tests = 12 Tests		22.89		18.69	
· · · · · · · · · · · · · · · · · · ·	Contains 8 Sets of 2 tests = 12 Tests  Contains 8 Sets of 2 tests = 16 Tests		25.99		21.19	
562-SalinitypH2-8 562-SalinitypH2-9	Contains 9 Sets of 2 tests = 18 Tests		27.59		22.19	
,,						
562-SalinitypH2-10	Contains 10 Sets of 2 tests = 20 Tests		29.19		23.49	
562-SalinitypH2-12	Contains 12 Sets of 2 tests = 24 Tests		32.39		25.69	
562-SalinitypH2-15	Contains 15 Sets of 2 tests = 30 Tests		37.09		29.09	
562-SalinitypH2-18	Contains 18 Sets of 2 tests = 36 Tests		41.89		32.79	
562-SalinitypH2-21	Contains 21 Sets of 2 tests = 42 Tests		46.69		36.59	
562-SalinitypH2-24	Contains 24 Sets of 2 tests = 48 Tests		51.39		39.19	
562-SalinitypH2-27	Contains 27 Sets of 2 tests = 54 Tests		56.19		42.89	
562-SalinitypH2-30	Contains 30 Sets of 2 tests = 60 Tests		60.89		46.39	
562-SalinitypH2-33	Contains 33 Sets of 2 tests = 66 Tests		65.69		50.09	

			List		Online		
SKU	564 - Plant Growth Nutrients	Qty	Price	Savings	Price	SubTotal	Kits Total
564-PlntGrth5-t9	Teacher Complete 9 Study Kit: 135 Tests		389.69		311.75		
564-PlntGrth5-dr3	Teacher 3 Demo Refill Kit: 45 Tests		102.99		92.69		
564-PlntGrth5-sr6	Teacher 6 Study Refill Kit: 90 Tests		205.69		174.84		
564-PIntGrth5-sr9	Teacher 9 Study Refill Kit: 135 Tests		308.39		246.71		
564-PIntGrth5-P12	Teacher Replacement Posters: 12 Posters		81.69		73.52		
564-PIntGrth5-2	Contains 2 Sets of 5 tests = 10 Tests		30.99		26.19		
564-PIntGrth5-3	Contains 3 Sets of 5 tests = 15 Tests		34.99		29.19		
564-PIntGrth5-4	Contains 4 Sets of 5 tests = 20 Tests		37.99		31.29		
564-PlntGrth5-6	Contains 6 Sets of 5 tests = 30 Tests		45.69		37.19		
564-PlntGrth5-8	Contains 8 Sets of 5 tests = 40 Tests		52.59		42.69		
564-PlntGrth5-9	Contains 9 Sets of 5 tests = 45 Tests		56.09		44.99		
564-PlntGrth5-10	Contains 10 Sets of 5 tests = 50 Tests		59.59		47.79		
564-PlntGrth5-12	Contains 12 Sets of 5 tests = 60 Tests		66.59		52.79		
564-PIntGrth5-15	Contains 15 Sets of 5 tests = 75 Tests		76.99		60.19		
564-PIntGrth5-18	Contains 18 Sets of 5 tests = 90 Tests		87.49		68.39		
564-PlntGrth5-21	Contains 21 Sets of 5 tests = 105 Tests		97.89		76.49		
564-PIntGrth5-24	Contains 24 Sets of 5 tests = 120 Tests		108.39		82.49		
564-PIntGrth5-27	Contains 27 Sets of 5 tests = 135 Tests		118.79		90.39		
564-PIntGrth5-30	Contains 30 Sets of 5 tests = 150 Tests		129.29		98.39		
564-PlntGrth5-33	Contains 33 Sets of 5 tests = 165 Tests		139.69		106.29		
SKU	566 - Plant Growth Nutrients Plus Bacteria Growth	Qty	Price	Savings	Price	SubTotal	Kits Total
566-PIntGrthBact6-t9	Teacher Complete 9 Study Kit: 162 Tests		515.39		412.31		
566-PIntGrthBact6-dr3	Teacher 3 Demo Refill Kit: 54 Tests		140.39		126.35		
566-PIntGrthBact6-sr6	Teacher 6 Study Refill Kit: 108 Tests						
566-PIntGrthBact6-sr9	reaction o study them that 100 resus		280.39		238.33		
	Teacher 9 Study Refill Kit: 162 Tests		280.39 420.49		238.33 336.39		
	,						
	Teacher 9 Study Refill Kit: 162 Tests		420.49		336.39		
566-PIntGrthBact6-P14	Teacher 9 Study Refill Kit: 162 Tests Teacher Replacement Posters: 14 Posters		420.49 95.29		336.39 85.76		
566-PIntGrthBact6-P14 566-PIntGrthBact6-2	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests		420.49 95.29 43.99		336.39 85.76 37.09		
566-PIntGrthBact6-P14 566-PIntGrthBact6-2 566-PIntGrthBact6-3	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests		420.49 95.29 43.99 49.99		336.39 85.76 37.09 41.59		
566-PIntGrthBact6-P14 566-PIntGrthBact6-2 566-PIntGrthBact6-3 566-PIntGrthBact6-4	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests		420.49 95.29 43.99 49.99 55.99		336.39 85.76 37.09 41.59 46.09		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests		420.49 95.29 43.99 49.99 55.99 69.49		336.39 85.76 37.09 41.59 46.09 56.39		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19		336.39 85.76 37.09 41.59 46.09 56.39 66.69		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8 566-PintGrthBact6-9 566-PintGrthBact6-10	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49 94.79		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89 75.99		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8 566-PintGrthBact6-9 566-PintGrthBact6-10 566-PintGrthBact6-12	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 50 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49 94.79 107.49		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89 75.99 85.09		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8 566-PintGrthBact6-9 566-PintGrthBact6-10 566-PintGrthBact6-12 566-PintGrthBact6-15	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 54 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49 94.79 107.49		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89 75.99 85.09 98.79		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8 566-PintGrthBact6-9 566-PintGrthBact6-10 566-PintGrthBact6-12 566-PintGrthBact6-15 566-PintGrthBact6-18	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 54 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49 94.79 107.49 126.49 145.49		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89 75.99 85.09 98.79 113.59 128.49		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8 566-PintGrthBact6-9 566-PintGrthBact6-10 566-PintGrthBact6-12 566-PintGrthBact6-15 566-PintGrthBact6-18 566-PintGrthBact6-21	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 54 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests  Contains 24 Sets of 6 tests = 144 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49 94.79 107.49 126.49 145.49 164.49		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89 75.99 85.09 98.79 113.59 128.49		
566-PintGrthBact6-P14 566-PintGrthBact6-2 566-PintGrthBact6-3 566-PintGrthBact6-4 566-PintGrthBact6-6 566-PintGrthBact6-8 566-PintGrthBact6-9 566-PintGrthBact6-10 566-PintGrthBact6-12 566-PintGrthBact6-15 566-PintGrthBact6-18	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 14 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 54 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		420.49 95.29 43.99 49.99 55.99 69.49 82.19 88.49 94.79 107.49 126.49 145.49		336.39 85.76 37.09 41.59 46.09 56.39 66.69 70.89 75.99 85.09 98.79 113.59 128.49		

			List		Online		
SKU	568 - Cooking Vegetables in Water	Qty	Price	Savings	Price	SubTotal	Kits Total
568-CookVeg6-t9	Teacher Complete 9 Study Kit: 162 Tests		471.89		377.51		
568-CookVeg6-dr3	Teacher 3 Demo Refill Kit: 54 Tests		128.09		115.28		
568-CookVeg6-sr6	Teacher 6 Study Refill Kit: 108 Tests		255.89		217.51		
568-CookVeg6-sr9	Teacher 9 Study Refill Kit: 162 Tests		383.69		306.95		
568-CookVeg6-P13	Teacher Replacement Posters: 13 Posters		88.49		79.64		
568-CookVeg6-2	Contains 2 Sets of 6 tests = 12 Tests		39.99		33.69		
568-CookVeg6-3	Contains 3 Sets of 6 tests = 18 Tests		43.99		36.69		
568-CookVeg6-4	Contains 4 Sets of 6 tests = 24 Tests		48.99		40.29		
568-CookVeg6-6	Contains 6 Sets of 6 tests = 36 Tests		58.39		47.39		
568-CookVeg6-8	Contains 8 Sets of 6 tests = 48 Tests		67.59		54.89		
568-CookVeg6-9	Contains 9 Sets of 6 tests = 54 Tests		72.19		57.89		
568-CookVeg6-10	Contains 10 Sets of 6 tests = 60 Tests		76.79		61.59		
568-CookVeg6-12	Contains 12 Sets of 6 tests = 72 Tests		85.89		67.99		
568-CookVeg6-15	Contains 15 Sets of 6 tests = 90 Tests		99.69		77.89		
568-CookVeg6-18	Contains 18 Sets of 6 tests = 108 Tests		113.39		88.59		
568-CookVeg6-21	Contains 21 Sets of 6 tests = 126 Tests		127.09		99.29		
568-CookVeg6-24	Contains 24 Sets of 6 tests = 144 Tests		140.89		107.19		
568-CookVeg6-27	Contains 27 Sets of 6 tests = 162 Tests		154.59		117.59		
568-CookVeg6-30	Contains 30 Sets of 6 tests = 180 Tests		168.39		128.09		
568-CookVeg6-33	Contains 33 Sets of 6 tests = 198 Tests		182.09		138.49		
SKU	572 - Washing Fruits and Vegetables	Qty	Price	Savings	Price	SubTotal	Kits Total
572-WashFruit6-t9	Teacher Complete 9 Study Kit: 162 Tests		507.79		406.23		
572-WashFruit6-dr3	Teacher 3 Demo Refill Kit: 54 Tests		140.09		126.08		
572-WashFruit6-sr6	Teacher 6 Study Refill Kit: 108 Tests		270.00		227.01		
572-WashFruit6-sr9			279.89		237.91		
	Teacher 9 Study Refill Kit: 162 Tests		419.59		335.67		
572-WashFruit6-P13	Teacher 9 Study Refill Kit: 162 Tests  Teacher Replacement Posters: 13 Posters						
			419.59		335.67		
572-WashFruit6-P13 572-WashFruit6-2 572-WashFruit6-3	Teacher Replacement Posters: 13 Posters		419.59 88.49		335.67 79.64		
572-WashFruit6-2 572-WashFruit6-3	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests		419.59 88.49 43.99		335.67 79.64 37.09		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests		419.59 88.49 43.99 49.99		335.67 79.64 37.09 41.59		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests		419.59 88.49 43.99 49.99 55.99		335.67 79.64 37.09 41.59 46.09		
572-WashFruit6-2	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests		419.59 88.49 43.99 49.99 55.99 69.19		335.67 79.64 37.09 41.59 46.09 56.19		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8 572-WashFruit6-9 572-WashFruit6-10	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79		335.67 79.64 37.09 41.59 46.09 56.19 66.39		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8 572-WashFruit6-9	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09 94.39		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59 75.69		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8 572-WashFruit6-9 572-WashFruit6-10 572-WashFruit6-12	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09 94.39 106.99		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59 75.69 84.69		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-9 572-WashFruit6-10 572-WashFruit6-12 572-WashFruit6-15 572-WashFruit6-18	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09 94.39 106.99 125.89		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59 75.69 84.69 98.29 112.99		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8 572-WashFruit6-9 572-WashFruit6-10 572-WashFruit6-12 572-WashFruit6-15 572-WashFruit6-18	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09 94.39 106.99 125.89 144.69 163.59		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59 75.69 84.69 98.29 112.99 127.79		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8 572-WashFruit6-9 572-WashFruit6-10 572-WashFruit6-12 572-WashFruit6-15 572-WashFruit6-15 572-WashFruit6-18 572-WashFruit6-21	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests  Contains 21 Sets of 6 tests = 126 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09 94.39 106.99 125.89 144.69 163.59 182.49		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59 75.69 84.69 98.29 112.99 127.79 138.79		
572-WashFruit6-2 572-WashFruit6-3 572-WashFruit6-4 572-WashFruit6-6 572-WashFruit6-8 572-WashFruit6-9 572-WashFruit6-10 572-WashFruit6-12 572-WashFruit6-15 572-WashFruit6-18	Teacher Replacement Posters: 13 Posters  Contains 2 Sets of 6 tests = 12 Tests  Contains 3 Sets of 6 tests = 18 Tests  Contains 4 Sets of 6 tests = 24 Tests  Contains 6 Sets of 6 tests = 36 Tests  Contains 8 Sets of 6 tests = 48 Tests  Contains 9 Sets of 6 tests = 54 Tests  Contains 10 Sets of 6 tests = 60 Tests  Contains 12 Sets of 6 tests = 72 Tests  Contains 15 Sets of 6 tests = 90 Tests  Contains 18 Sets of 6 tests = 108 Tests  Contains 21 Sets of 6 tests = 126 Tests		419.59 88.49 43.99 49.99 55.99 69.19 81.79 88.09 94.39 106.99 125.89 144.69 163.59		335.67 79.64 37.09 41.59 46.09 56.19 66.39 70.59 75.69 84.69 98.29 112.99 127.79		

			List		Online		
SKU	576 - Compare Juice Soda Pop and Milk	Qty	Price	Savings	Price	SubTotal	Kits Total
576-Juice4-t9	Teacher Complete 9 Study Kit: 108 Tests		373.69		298.95		
576-Juice4-dr3	Teacher 3 Demo Refill Kit: 36 Tests		99.89		89.90		
576-Juice4-sr6	Teacher 6 Study Refill Kit: 72 Tests		199.49		169.57		
576-Juice4-sr9	Teacher 9 Study Refill Kit: 108 Tests		299.09		239.27		
576-Juice4-P11	Teacher Replacement Posters: 11 Posters		74.89		67.40		
576-Juice4-2	Contains 2 Sets of 4 tests = 8 Tests		29.99		25.29		
576-Juice4-3	Contains 3 Sets of 4 tests = 12 Tests		32.99		27.49		
576-Juice4-4	Contains 4 Sets of 4 tests = 16 Tests		35.99		29.69		
576-Juice4-6	Contains 6 Sets of 4 tests = 24 Tests		42.89		34.89		
576-Juice4-8	Contains 8 Sets of 4 tests = 32 Tests		48.99		39.79		
576-Juice4-9	Contains 9 Sets of 4 tests = 36 Tests		51.99		41.69		
576-Juice4-10	Contains 10 Sets of 4 tests = 40 Tests		54.99		44.09		
576-Juice4-12	Contains 12 Sets of 4 tests = 48 Tests		61.09		48.39		
576-Juice4-15	Contains 15 Sets of 4 tests = 60 Tests		70.29		54.99		
576-Juice4-18	Contains 18 Sets of 4 tests = 72 Tests		79.39		62.09		
576-Juice4-21	Contains 21 Sets of 4 tests = 84 Tests		88.49		69.19		
576-Juice4-24	Contains 24 Sets of 4 tests = 94 Tests		97.69		74.39		
576-Juice4-27	Contains 27 Sets of 4 tests = 108 Tests		106.79		81.29		
576-Juice4-30	Contains 30 Sets of 4 tests = 120 Tests		115.89		88.19		
576-Juice4-33	Contains 33 Sets of 4 tests = 132 Tests		125.09		95.19		
SKU	578 - Checking Pet Drinking Water Bowl	Qty	Price	Savings	Price	SubTotal	Kits Total
578-PetBowl5-t9	Teacher Complete 9 Study Kit: 135 Tests		414.49		331.59		
578-PetBowl5-dr3	Teacher 3 Demo Refill Kit: 45 Tests		113.59		102.23		
578-PetBowl5-sr6	Teacher 6 Study Refill Kit: 90 Tests		226.79		192.77		
578-PetBowl5-sr9	Teacher 9 Study Refill Kit: 135 Tests		339.99		271.99		
578-PetBowl5-P11	Teacher Replacement Posters: 11 Posters		74.89		67.40		
578-PetBowl5-2	Contains 2 Sets of 5 tests = 10 Tests		34.99		29.49		
578-PetBowl5-3	Contains 3 Sets of 5 tests = 15 Tests		39.99		33.29		
578-PetBowl5-4	Contains 4 Sets of 5 tests = 20 Tests		44.99		36.99		
578-PetBowl5-6	Contains 6 Sets of 5 tests = 30 Tests		55.19		44.89		
578-PetBowl5-8	Contains 8 Sets of 5 tests = 40 Tests		65.19		52.99		
578-PetBowl5-9	Contains 9 Sets of 5 tests = 45 Tests		70.19		56.29		
578-PetBowl5-10	Contains 10 Sets of 5 tests = 50 Tests		75.09		60.19		
			05.00		67.39		
578-PetBowl5-12	Contains 12 Sets of 5 tests = 60 Tests		85.09				
578-PetBowl5-12 578-PetBowl5-15	Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests		100.09		78.19		
					78.19 89.79		
578-PetBowl5-15 578-PetBowl5-18	Contains 15 Sets of 5 tests = 75 Tests		100.09				
578-PetBowl5-15	Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests		100.09 114.99		89.79		
578-PetBowl5-15 578-PetBowl5-18 578-PetBowl5-21 578-PetBowl5-24	Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests		100.09 114.99 129.99		89.79 101.49		
578-PetBowl5-15 578-PetBowl5-18 578-PetBowl5-21	Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests  Contains 24 Sets of 5 tests = 120 Tests		100.09 114.99 129.99 144.99		89.79 101.49 110.29		

			List		Online		
SKU	580 - Copper Pipe Corrosion and Acidic Water	Qty	Price	Savings	Price	SubTotal	Kits Total
580-MetCupH2-t9	Teacher Complete 9 Study Kit: 54 Tests		230.29		184.23		
580-MetCupH2-dr3	Teacher 3 Demo Refill Kit: 18 Tests		58.89		53.00		
580-MetCupH2-sr6	Teacher 6 Study Refill Kit: 36 Tests		117.49		99.87		
580-MetCupH2-sr9	Teacher 9 Study Refill Kit: 54 Tests		175.99		140.79		
580-MetCupH2-P8	Teacher Replacement Posters: 8 Posters		54.59		49.13		
580-MetCupH2-2	Contains 2 Sets of 2 tests = 4 Tests		15.99		13.59		
580-MetCupH2-3	Contains 3 Sets of 2 tests = 6 Tests		18.99		15.89		
580-MetCupH2-4	Contains 4 Sets of 2 tests = 8 Tests		20.99		17.39		
580-MetCupH2-6	Contains 6 Sets of 2 tests = 12 Tests		25.69		20.99		
580-MetCupH2-8	Contains 8 Sets of 2 tests = 16 Tests		29.99		24.39		
580-MetCupH2-9	Contains 9 Sets of 2 tests = 18 Tests		32.19		25.89		
580-MetCupH2-10	Contains 10 Sets of 2 tests = 20 Tests		34.29		27.59		
580-MetCupH2-12	Contains 12 Sets of 2 tests = 24 Tests		38.69		30.69		
580-MetCupH2-15	Contains 15 Sets of 2 tests = 30 Tests		45.19		35.39		
580-MetCupH2-18	Contains 18 Sets of 2 tests = 36 Tests		51.69		40.49		
580-MetCupH2-21	Contains 21 Sets of 2 tests = 42 Tests		58.09		45.49		
580-MetCupH2-24	Contains 24 Sets of 2 tests = 48 Tests		64.59		49.19		
580-MetCupH2-27	Contains 27 Sets of 2 tests = 54 Tests		71.09		54.19		
580-MetCupH2-30	Contains 30 Sets of 2 tests = 60 Tests		77.59		59.09		
580-MetCupH2-33	Contains 33 Sets of 2 tests = 66 Tests		84.09		64.09		
SKU	582 - Metal Pipe Contamination	Qty	Price	Savings	Price	SubTotal	<b>Kits Total</b>
582-MetPipe4-t9	Teacher Complete 9 Study Kit: 108 Tests		407.89		326.31		
582-MetPipe4-dr3	Tanahan 2 Dama Bafill Kit. 20 Tanta		111.29		100.16		
	Teacher 3 Demo Refill Kit: 36 Tests		111.29		100.10		
582-MetPipe4-sr6	Teacher 3 Demo Refill Kit: 36 Tests  Teacher 6 Study Refill Kit: 72 Tests		222.29		188.95		
582-MetPipe4-sr6 582-MetPipe4-sr9							
•	Teacher 6 Study Refill Kit: 72 Tests		222.29		188.95		
582-MetPipe4-sr9	Teacher 6 Study Refill Kit: 72 Tests Teacher 9 Study Refill Kit: 108 Tests		222.29 333.29		188.95 266.63		
582-MetPipe4-sr9 582-MetPipe4-P11	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters		222.29 333.29 74.89		188.95 266.63 67.40		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2	Teacher 6 Study Refill Kit: 72 Tests Teacher 9 Study Refill Kit: 108 Tests Teacher Replacement Posters: 11 Posters Contains 2 Sets of 4 tests = 8 Tests		222.29 333.29 74.89 33.99		188.95 266.63 67.40 28.69		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests		222.29 333.29 74.89 33.99 38.99		188.95 266.63 67.40 28.69 32.49		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests		222.29 333.29 74.89 33.99 38.99 42.99		188.95 266.63 67.40 28.69 32.49 35.39		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9 582-MetPipe4-10	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests  Contains 10 Sets of 4 tests = 40 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19 71.89		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89 57.69		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9 582-MetPipe4-10 582-MetPipe4-12	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests  Contains 10 Sets of 4 tests = 40 Tests  Contains 12 Sets of 4 tests = 48 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19 71.89 81.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89 57.69 64.29		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9 582-MetPipe4-10 582-MetPipe4-12 582-MetPipe4-15	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests  Contains 10 Sets of 4 tests = 40 Tests  Contains 12 Sets of 4 tests = 48 Tests  Contains 15 Sets of 4 tests = 60 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19 71.89 81.19 95.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89 57.69 64.29 74.39		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9 582-MetPipe4-10 582-MetPipe4-12 582-MetPipe4-15 582-MetPipe4-18	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests  Contains 10 Sets of 4 tests = 40 Tests  Contains 12 Sets of 4 tests = 48 Tests  Contains 15 Sets of 4 tests = 60 Tests  Contains 18 Sets of 4 tests = 72 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19 71.89 81.19 95.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89 57.69 64.29 74.39 85.29		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9 582-MetPipe4-10 582-MetPipe4-12 582-MetPipe4-15 582-MetPipe4-18 582-MetPipe4-18	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests  Contains 10 Sets of 4 tests = 40 Tests  Contains 12 Sets of 4 tests = 48 Tests  Contains 15 Sets of 4 tests = 60 Tests  Contains 18 Sets of 4 tests = 72 Tests  Contains 21 Sets of 4 tests = 84 Tests  Contains 21 Sets of 4 tests = 94 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19 71.89 81.19 95.19 109.19 123.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89 57.69 64.29 74.39 85.29 96.19		
582-MetPipe4-sr9 582-MetPipe4-P11 582-MetPipe4-2 582-MetPipe4-3 582-MetPipe4-4 582-MetPipe4-6 582-MetPipe4-8 582-MetPipe4-9 582-MetPipe4-10 582-MetPipe4-12 582-MetPipe4-15 582-MetPipe4-18 582-MetPipe4-18 582-MetPipe4-21	Teacher 6 Study Refill Kit: 72 Tests  Teacher 9 Study Refill Kit: 108 Tests  Teacher Replacement Posters: 11 Posters  Contains 2 Sets of 4 tests = 8 Tests  Contains 3 Sets of 4 tests = 12 Tests  Contains 4 Sets of 4 tests = 16 Tests  Contains 6 Sets of 4 tests = 24 Tests  Contains 8 Sets of 4 tests = 32 Tests  Contains 9 Sets of 4 tests = 36 Tests  Contains 10 Sets of 4 tests = 40 Tests  Contains 12 Sets of 4 tests = 48 Tests  Contains 15 Sets of 4 tests = 60 Tests  Contains 18 Sets of 4 tests = 72 Tests  Contains 21 Sets of 4 tests = 84 Tests		222.29 333.29 74.89 33.99 38.99 42.99 53.19 62.49 67.19 71.89 81.19 95.19 109.19		188.95 266.63 67.40 28.69 32.49 35.39 43.19 50.79 53.89 57.69 64.29 74.39 85.29 96.19		

			List		Online		
SKU	584 - Dissolved Metals and pH in Water	Qty	Price	Savings	Price	SubTotal	Kits Total
584-DisMetpH2-t9	Teacher Complete 9 Study Kit: 54 Tests		213.89		171.11		
584-DisMetpH2-dr3	Teacher 3 Demo Refill Kit: 18 Tests		55.69		50.12		
584-DisMetpH2-sr6	Teacher 6 Study Refill Kit: 36 Tests		111.09		94.43		
584-DisMetpH2-sr9	Teacher 9 Study Refill Kit: 54 Tests		166.49		133.19		
584-DisMetpH2-P7	Teacher Replacement Posters: 7 Posters		47.79		43.01		
584-DisMetpH2-2	Contains 2 Sets of 2 tests = 4 Tests		14.99		12.69		
584-DisMetpH2-3	Contains 3 Sets of 2 tests = 6 Tests		16.99		14.29		
584-DisMetpH2-4	Contains 4 Sets of 2 tests = 8 Tests		18.99		15.69		
584-DisMetpH2-6	Contains 6 Sets of 2 tests = 12 Tests		22.79		18.59		
584-DisMetpH2-8	Contains 8 Sets of 2 tests = 16 Tests		26.19		21.39		
584-DisMetpH2-9	Contains 9 Sets of 2 tests = 18 Tests		27.89		22.49		
584-DisMetpH2-10	Contains 10 Sets of 2 tests = 20 Tests		29.59		23.79		
584-DisMetpH2-12	Contains 12 Sets of 2 tests = 24 Tests		32.99		26.19		
584-DisMetpH2-15	Contains 15 Sets of 2 tests = 30 Tests		38.19		29.89		
584-DisMetpH2-18	Contains 18 Sets of 2 tests = 36 Tests		43.29		33.89		
584-DisMetpH2-21	Contains 21 Sets of 2 tests = 42 Tests		48.39		37.89		
584-DisMetpH2-24	Contains 24 Sets of 2 tests = 48 Tests		53.49		40.79		
584-DisMetpH2-27	Contains 27 Sets of 2 tests = 54 Tests		58.69		44.79		
584-DisMetpH2-30	Contains 30 Sets of 2 tests = 60 Tests		63.79		48.59		
584-DisMetpH2-33	Contains 33 Sets of 2 tests = 66 Tests		68.89		52.49		
SKU	588 - Fertilizer Pollution	Qty	Price	Savings	Price	SubTotal	Kits Total
588-FertPol5-t9	Teacher Complete 9 Study Kit: 135 Tests		311.19		248.95		
588-FertPol5-dr3	Teacher 3 Demo Refill Kit: 45 Tests		04 00				
E00 E+D-15 6	reaction 5 Demo Reim Ric. 45 Tests		81.39		73.25		
588-FertPol5-sr6	Teacher 6 Study Refill Kit: 90 Tests		162.39		73.25 138.03		
588-FertPol5-sr6 588-FertPol5-sr9							
	Teacher 6 Study Refill Kit: 90 Tests		162.39		138.03		
588-FertPol5-sr9	Teacher 6 Study Refill Kit: 90 Tests Teacher 9 Study Refill Kit: 135 Tests		162.39 243.39		138.03 194.71		
588-FertPol5-sr9 588-FertPol5-P10	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters		162.39 243.39 68.19		138.03 194.71 61.37		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests		162.39 243.39 68.19 23.99		138.03 194.71 61.37 20.29		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests		162.39 243.39 68.19 23.99 26.99		138.03 194.71 61.37 20.29 22.59		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests		162.39 243.39 68.19 23.99 26.99 29.99		138.03 194.71 61.37 20.29 22.59 24.69		
588-FertPoI5-sr9 588-FertPoI5-P10 588-FertPoI5-2 588-FertPoI5-3 588-FertPoI5-4 588-FertPoI5-6	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99		138.03 194.71 61.37 20.29 22.59 24.69 29.29		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-9	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-9 588-FertPol5-10	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69 47.59		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89 38.19		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-9 588-FertPol5-10 588-FertPol5-12	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 10 Sets of 5 tests = 60 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69 47.59 53.29		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89 38.19 42.19		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-9 588-FertPol5-10 588-FertPol5-12 588-FertPol5-15	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69 47.59 53.29 61.99		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89 38.19 42.19 48.49		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-9 588-FertPol5-10 588-FertPol5-12 588-FertPol5-15	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69 47.59 53.29 61.99 70.59		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89 38.19 42.19 48.49 55.19		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-9 588-FertPol5-10 588-FertPol5-12 588-FertPol5-15 588-FertPol5-18	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 18 Sets of 5 tests = 105 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69 47.59 53.29 61.99 70.59		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89 38.19 42.19 48.49 55.19 61.89		
588-FertPol5-sr9 588-FertPol5-P10 588-FertPol5-2 588-FertPol5-3 588-FertPol5-4 588-FertPol5-6 588-FertPol5-8 588-FertPol5-10 588-FertPol5-12 588-FertPol5-15 588-FertPol5-15 588-FertPol5-18 588-FertPol5-21 588-FertPol5-24	Teacher 6 Study Refill Kit: 90 Tests  Teacher 9 Study Refill Kit: 135 Tests  Teacher Replacement Posters: 10 Posters  Contains 2 Sets of 5 tests = 10 Tests  Contains 3 Sets of 5 tests = 15 Tests  Contains 4 Sets of 5 tests = 20 Tests  Contains 6 Sets of 5 tests = 30 Tests  Contains 8 Sets of 5 tests = 40 Tests  Contains 9 Sets of 5 tests = 45 Tests  Contains 10 Sets of 5 tests = 50 Tests  Contains 12 Sets of 5 tests = 60 Tests  Contains 15 Sets of 5 tests = 75 Tests  Contains 18 Sets of 5 tests = 90 Tests  Contains 21 Sets of 5 tests = 105 Tests  Contains 24 Sets of 5 tests = 120 Tests		162.39 243.39 68.19 23.99 26.99 29.99 35.99 41.79 44.69 47.59 53.29 61.99 70.59 79.19 87.89		138.03 194.71 61.37 20.29 22.59 24.69 29.29 33.99 35.89 38.19 42.19 48.49 55.19 61.89		

			List		Online		
SKU	590 - Effects of Water Quality on Paper Making	Qty	Price	Savings	Price	SubTotal	Kits Total
590-Paper6-t9	Teacher Complete 9 Study Kit: 162 Tests		465.49		372.39		
590-Paper6-dr3	Teacher 3 Demo Refill Kit: 54 Tests		123.79		111.41		
590-Paper6-sr6	Teacher 6 Study Refill Kit: 108 Tests		247.19		210.11		
590-Paper6-sr9	Teacher 9 Study Refill Kit: 162 Tests		370.59		296.47		
590-Paper6-P14	Teacher Replacement Posters: 14 Posters		95.29		85.76		
590-Paper6-2	Contains 2 Sets of 6 tests = 12 Tests		37.99		32.09		
590-Paper6-3	Contains 3 Sets of 6 tests = 18 Tests		41.99		34.99		
590-Paper6-4	Contains 4 Sets of 6 tests = 24 Tests		45.99		37.89		
590-Paper6-6	Contains 6 Sets of 6 tests = 36 Tests		54.49		44.29		
590-Paper6-8	Contains 8 Sets of 6 tests = 48 Tests		62.39		50.69		
590-Paper6-9	Contains 9 Sets of 6 tests = 54 Tests		66.29		53.19		
590-Paper6-10	Contains 10 Sets of 6 tests = 60 Tests		70.29		56.39		
590-Paper6-12	Contains 12 Sets of 6 tests = 72 Tests		78.19		61.89		
590-Paper6-15	Contains 15 Sets of 6 tests = 90 Tests		90.09		70.39		
590-Paper6-18	Contains 18 Sets of 6 tests = 108 Tests		101.89		79.59		
590-Paper6-21	Contains 21 Sets of 6 tests = 126 Tests		113.79		88.89		
590-Paper6-24	Contains 24 Sets of 6 tests = 144 Tests		125.59		95.59		
590-Paper6-27	Contains 27 Sets of 6 tests = 162 Tests		137.49		104.59		
590-Paper6-30	Contains 30 Sets of 6 tests = 180 Tests		149.39		113.69		
590-Paper6-33	Contains 33 Sets of 6 tests = 198 Tests		161.19		122.69		
SKU	594 - Evaluate Water Filter Performance	Qty	Price	Savings	Price	SubTotal	<b>Kits Total</b>
594-FiltPerfm7-t9	Teacher Complete 9 Study Kit: 189 Tests		559.79		447.83		
594-FiltPerfm7-dr3	Teacher 3 Demo Refill Kit: 63 Tests		148.39		133.55		
594-FiltPerfm7-sr6	Teacher 6 Study Refill Kit: 126 Tests		296.39		251.93		
594-FiltPerfm7-sr9	Teacher 9 Study Refill Kit: 189 Tests		444.49		355.59		
594-FiltPerfm7-P17	Teacher Replacement Posters: 17 Posters		115.59		104.03		
594-FiltPerfm7-2	Contains 2 Sets of 7 tests = 14 Tests		45.99		38.79		
594-FiltPerfm7-3	Contains 3 Sets of 7 tests = 21 Tests		50.99		42.49		
594-FiltPerfm7-4	Contains 4 Sets of 7 tests = 28 Tests		55.99		46.09		
594-FiltPerfm7-6	Contains 6 Sets of 7 tests = 42 Tests		66.39		53.89		
594-FiltPerfm7-8	Contains 8 Sets of 7 tests = 56 Tests		76.19		61.89		
594-FiltPerfm7-9	Contains 9 Sets of 7 tests = 63 Tests		81.09		64.99		
594-FiltPerfm7-10	Contains 10 Sets of 7 tests = 70 Tests		85.99		68.89		
594-FiltPerfm7-12	Contains 12 Sets of 7 tests = 84 Tests		95.69		75.69		
594-FiltPerfm7-15	Contains 15 Sets of 7 tests = 105 Tests		110.39		86.29		
594-FiltPerfm7-18	Contains 18 Sets of 7 tests = 126 Tests		125.09		97.69		
594-FiltPerfm7-21	Contains 21 Sets of 7 tests = 147 Tests		139.79		109.19		
594-FiltPerfm7-24	Contains 24 Sets of 7 tests = 168 Tests		154.39		117.49		
· · · · · · · · · · · · · · · · · ·	1						
594-FiltPerfm7-27	Contains 27 Sets of 7 tests = 189 Tests		169.09		128.69		
594-FiltPerfm7-27 594-FiltPerfm7-30	Contains 27 Sets of 7 tests = 189 Tests  Contains 30 Sets of 7 tests = 210 Tests		169.09 183.79		128.69		

SKU	100 - Total Water Hardness	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
100-Hrd3	Total Water Hardness - Contains 3 Single Tests		9.99		8.39		
100-Hrd4	Total Water Hardness - Contains 4 Single Tests		10.99		9.19		
100-Hrd6	Total Water Hardness - Contains 6 Single Tests		12.79		10.49		
100-Hrd8	Total Water Hardness - Contains 8 Single Tests		14.39		11.79		
100-Hrd9	Total Water Hardness - Contains 9 Single Tests		15.29		12.39		
100-Hrd10	Total Water Hardness - Contains 10 Single Tests		16.09		12.99		
100-Hrd12	Total Water Hardness - Contains 12 Single Tests		17.69		14.09		
100-Hrd15	Total Water Hardness - Contains 15 Single Tests		20.09		15.79		
100-Hrd18	Total Water Hardness - Contains 18 Single Tests		22.49		17.69		
100-Hrd21	Total Water Hardness - Contains 21 Single Tests		24.89		19.59		
100-Hrd24	Total Water Hardness - Contains 24 Single Tests		27.29		20.89		
100-Hrd27	Total Water Hardness - Contains 27 Single Tests		29.79		22.79		
100-Hrd30	Total Water Hardness - Contains 30 Single Tests		32.19		24.59		
100-Hrd33	Total Water Hardness - Contains 33 Single Tests		34.59		26.39		
SKU	105 - Total Alkalinity	Qty	Price	Savings	Price	SubTotal	Kits Total
105-AlkH3	Total Alkalinity - Contains 3 Single Tests		9.99		8.39		
105-AlkH4	Total Alkalinity - Contains 4 Single Tests		10.99		9.19		
105-AlkH6	Total Alkalinity - Contains 6 Single Tests		13.19		10.79		
105-AlkH8	Total Alkalinity - Contains 8 Single Tests		15.09		12.39		
105-AlkH9	Total Alkalinity - Contains 9 Single Tests		15.99		12.89		
105-AlkH10	Total Alkalinity - Contains 10 Single Tests		16.89		13.69		
105-AlkH12	Total Alkalinity - Contains 12 Single Tests		18.79		14.99		
105-AlkH15	Total Alkalinity - Contains 15 Single Tests		21.69		17.09		
105-AlkH18	Total Alkalinity - Contains 18 Single Tests		24.49		19.29		
105-AlkH21	Total Alkalinity - Contains 21 Single Tests		27.29		21.39		
105-AlkH24	Total Alkalinity - Contains 24 Single Tests		30.09		22.99		
105-AlkH27	Total Alkalinity - Contains 27 Single Tests		32.99		25.19		
105-AlkH30	Total Alkalinity - Contains 30 Single Tests		35.79		27.39		
105-AlkH33	Total Alkalinity - Contains 33 Single Tests		38.59		29.49		
SKU	110 - pH	Qty	Price	Savings	Price	SubTotal	Kits Total
110-ph3	pH - Contains 3 Single Tests		9.99		8.39		
110-ph4	pH - Contains 4 Single Tests		10.99		9.19		
110-ph6	pH - Contains 6 Single Tests		13.09		10.79		
110-ph8	pH - Contains 8 Single Tests		14.79		12.09		
110-ph9	pH - Contains 9 Single Tests		15.69		12.69		
110-ph10	pH - Contains 10 Single Tests		16.49		13.29		
110-ph12	pH - Contains 12 Single Tests		18.29		14.59		
110-ph15	pH - Contains 15 Single Tests		20.89		16.39		
110-ph18	pH - Contains 18 Single Tests		23.49		18.49		
110-ph21	pH - Contains 21 Single Tests		26.09		20.49		
110-ph24	pH - Contains 24 Single Tests		28.69		21.99		
110-ph27	pH - Contains 27 Single Tests		31.29		23.89		
110-ph30	pH - Contains 30 Single Tests		33.89		25.89		
110-ph33	pH - Contains 33 Single Tests		36.49		27.89		Ì

SKU	115 - Total Alkalinity and pH Dual	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
115-AlkITS3	Total Alkalinity and pH - Contains 3 Dual Tests		12.99		10.89		
115-AlkITS4	Total Alkalinity and pH - Contains 4 Dual Tests		13.99		11.59		
115-AlkITS6	Total Alkalinity and pH - Contains 6 Dual Tests		16.99		13.89		
115-AlkITS8	Total Alkalinity and pH - Contains 8 Dual Tests		19.39		15.89		
115-AlkITS9	Total Alkalinity and pH - Contains 9 Dual Tests		20.59		16.59		
115-AlkITS10	Total Alkalinity and pH - Contains 10 Dual Tests		21.79		17.59		
115-AlkITS12	Total Alkalinity and pH - Contains 12 Dual Tests		24.19		19.29		
115-AlkITS15	Total Alkalinity and pH - Contains 15 Dual Tests		27.69		21.69		
115-AlkITS18	Total Alkalinity and pH - Contains 18 Dual Tests		31.29		24.59		
115-AlkITS21	Total Alkalinity and pH - Contains 21 Dual Tests		34.89		27.39		
115-AlkITS24	Total Alkalinity and pH - Contains 24 Dual Tests		38.49		29.39		
115-AlkITS27	Total Alkalinity and pH - Contains 27 Dual Tests		42.09		32.09		
115-AlkITS30	Total Alkalinity and pH - Contains 30 Dual Tests		45.59		34.79		
115-AlkITS33	Total Alkalinity and pH - Contains 33 Dual Tests		49.19		37.49		
SKU	120 - EPA Free Chlorine	Qty	Price	Savings	Price	SubTotal	Kits Total
120-FCL3	Free Chlorine - Contains 3 Single Tests		11.99		10.09		
120-FCL4	Free Chlorine - Contains 4 Single Tests		12.99		10.79		
120-FCL6	Free Chlorine - Contains 6 Single Tests		16.19		13.29		
120-FCL8	Free Chlorine - Contains 8 Single Tests		18.89		15.49		
120-FCL9	Free Chlorine - Contains 9 Single Tests		20.19		16.29		
120-FCL10	Free Chlorine - Contains 10 Single Tests		21.59		17.39		
120-FCL12	Free Chlorine - Contains 12 Single Tests		24.29		19.29		
120-FCL15	Free Chlorine - Contains 15 Single Tests		28.29		22.19		
120-FCL18	Free Chlorine - Contains 18 Single Tests		32.29		25.29		
120-FCL21	Free Chlorine - Contains 21 Single Tests		36.39		28.49		
120-FCL24	Free Chlorine - Contains 24 Single Tests		40.39		30.79		
120-FCL27	Free Chlorine - Contains 27 Single Tests		44.39		33.89		
120-FCL30	Free Chlorine - Contains 30 Single Tests		48.49		36.99		
120-FCL33	Free Chlorine - Contains 33 Single Tests		52.49		39.99		
SKU	125 - Total Chlorine	Qty	Price	Savings	Price	SubTotal	Kits Total
125-TCL3	Total Chlorine - Contains 3 Single Tests		11.99		10.09		
125-TCL4	Total Chlorine - Contains 4 Single Tests		12.99		10.79		
125-TCL6	Total Chlorine - Contains 6 Single Tests		16.19		13.29		
125-TCL8	Total Chlorine - Contains 8 Single Tests		18.89		15.49		
125-TCL9	Total Chlorine - Contains 9 Single Tests		20.19		16.29		
125-TCL10	Total Chlorine - Contains 10 Single Tests		21.59		17.39		
125-TCL12	Total Chlorine - Contains 12 Single Tests		24.29		19.29		
125-TCL15	Total Chlorine - Contains 15 Single Tests		28.29		22.19		
125-TCL18	Total Chlorine - Contains 18 Single Tests		32.29		25.29		
125-TCL21	Total Chlorine - Contains 21 Single Tests		36.39		28.49		
125-TCL24	Total Chlorine - Contains 24 Single Tests		40.39		30.79		
125-TCL27	Total Chlorine - Contains 27 Single Tests		44.39		33.89		
125-TCL30	Total Chlorine - Contains 30 Single Tests		48.49		36.99		
125-TCL33	Total Chlorine - Contains 33 Single Tests		52.49		39.99		

			List		Online		
SKU	130 - Total Chlorine and Free Chlorine Dual	Qty	Price	Savings	Price	SubTotal	Kits Total
130-FTCL3	Total Chlorine and Free Chlorine - 3 Dual Tests		13.99		11.79		
130-FTCL4	Total Chlorine and Free Chlorine - 4 Dual Tests		14.99		12.39		
130-FTCL6	Total Chlorine and Free Chlorine - 6 Dual Tests		18.79		15.39		
130-FTCL8	Total Chlorine and Free Chlorine - 8 Dual Tests		21.89		17.89		
130-FTCL9	Total Chlorine and Free Chlorine - 9 Dual Tests		23.39		18.89		
130-FTCL10	Total Chlorine and Free Chlorine - 10 Dual Tests		24.99		20.09		
130-FTCL12	Total Chlorine and Free Chlorine - 12 Dual Tests		28.09		22.29		
130-FTCL15	Total Chlorine and Free Chlorine - 15 Dual Tests		32.79		25.69		
130-FTCL18	Total Chlorine and Free Chlorine - 18 Dual Tests		37.49		29.39		
130-FTCL21	Total Chlorine and Free Chlorine - 21 Dual Tests		42.19		33.09		
130-FTCL24	Total Chlorine and Free Chlorine - 24 Dual Tests		46.89		35.79		
130-FTCL27	Total Chlorine and Free Chlorine - 27 Dual Tests		51.59		39.39		
130-FTCL30	Total Chlorine and Free Chlorine - 30 Dual Tests		56.19		42.89		
130-FTCL33	Total Chlorine and Free Chlorine - 33 Dual Tests		60.89		46.39		
SKU	135 - Nitrate and Nitrite Dual	Qty	Price	Savings	Price	SubTotal	Kits Total
135-Nit3	Nitrate and Nitrite - Contains 3 Dual Tests		12.99		10.89		
135-Nit4	Nitrate and Nitrite - Contains 4 Dual Tests		13.99		11.59		
135-Nit6	Nitrate and Nitrite - Contains 6 Dual Tests		17.79		14.59		
135-Nit7	Nitrate and Nitrite - Contains 8 Dual Tests		20.69		16.89		
135-Nit9	Nitrate and Nitrite - Contains 9 Dual Tests		22.09		17.79		
135-Nit10	Nitrate and Nitrite - Contains 10 Dual Tests		23.59		18.99		
135-Nit12	Nitrate and Nitrite - Contains 12 Dual Tests		26.39		20.99		
135-Nit15	Nitrate and Nitrite - Contains 15 Dual Tests		30.69		24.09		
135-Nit18	Nitrate and Nitrite - Contains 18 Dual Tests		34.99		27.39		
135-Nit21	Nitrate and Nitrite - Contains 21 Dual Tests		39.29		30.79		
135-Nit24	Nitrate and Nitrite - Contains 24 Dual Tests		43.59		33.29		
135-Nit27	Nitrate and Nitrite - Contains 27 Dual Tests		47.89		36.49		
135-Nit30	Nitrate and Nitrite - Contains 30 Dual Tests		52.19		39.79		
135-Nit33	Nitrate and Nitrite - Contains 33 Dual Tests		56.49		43.09		
SKU	140 - Dissolved Phosphate	Qty	Price	Savings	Price	SubTotal	Kits Total
140PO4H3	Dissolved Phosphate - Contains 3 Single Tests		13.99		11.79		
140-PO4H4	Dissolved Phosphate - Contains 4 Single Tests		15.99		13.29		
140-PO4H6	Dissolved Phosphate - Contains 6 Single Tests		20.79		16.99		
140-PO4H8	Dissolved Phosphate - Contains 8 Single Tests		24.79		20.19		
140-PO4H9	Dissolved Phosphate - Contains 9 Single Tests		26.79		21.59		
140-PO4H10	Dissolved Phosphate - Contains 10 Single Tests		28.89		23.29		
140-PO4H12	Dissolved Phosphate - Contains 12 Single Tests		32.89		26.09		
140-PO4H15	Dissolved Phosphate - Contains 15 Single Tests		38.99		30.59		
140-PO4H18	Dissolved Phosphate - Contains 18 Single Tests		45.09		35.29		
140-PO4H21	Dissolved Phosphate - Contains 21 Single Tests		51.19		40.09		
140-PO4H24	Dissolved Phosphate - Contains 24 Single Tests		57.29		43.69		
140-PO4H27	Dissolved Phosphate - Contains 27 Single Tests		63.29		48.29		
140-PO4H30	Dissolved Phosphate - Contains 30 Single Tests		69.39		52.89		
140-PO4H33	Dissolved Phosphate - Contains 33 Single Tests		75.49		57.49		

SKU	145 - Total Dissolved Solids (TDS)	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
145-TDS3	Total Dissolved Solids - Contains 3 Single Tests		12.99		10.89		
145-TDS4	Total Dissolved Solids - Contains 4 Single Tests		14.99		12.39		
145-TDS6	Total Dissolved Solids - Contains 6 Single Tests		19.59		15.99		
145-TDS8	Total Dissolved Solids - Contains 8 Single Tests		23.29		18.99		
145-TDS9	Total Dissolved Solids - Contains 9 Single Tests		25.19		20.29		
145-TDS10	Total Dissolved Solids - Contains 10 Single Tests		26.99		21.69		
145-TDS12	Total Dissolved Solids - Contains 12 Single Tests		30.79		24.49		
145-TDS15	Total Dissolved Solids - Contains 15 Single Tests		36.29		28.49		
145-TDS18	Total Dissolved Solids - Contains 18 Single Tests		41.89		32.79		
145-TDS21	Total Dissolved Solids - Contains 21 Single Tests		47.49		37.19		
145-TDS24	Total Dissolved Solids - Contains 24 Single Tests		53.09		40.49		
145-TDS27	Total Dissolved Solids - Contains 27 Single Tests		58.59		44.69		
145-TDS30	Total Dissolved Solids - Contains 30 Single Tests		64.19		48.89		
145-TDS33	Total Dissolved Solids - Contains 33 Single Tests		69.79		53.19		
SKU	150 - Dissolved Metals (Cu, Co, Zn, Cd, Ni, etc.)	Qty	Price	Savings	Price	SubTotal	Kits Total
150-DisMet3	Dissolved Metals - Contains 3 Single Tests		13.99		11.79		
150-DisMet4	Dissolved Metals - Contains 4 Single Tests		15.99		13.29		
150-DisMet6	Dissolved Metals - Contains 6 Single Tests		20.29		16.59		
150-DisMet8	Dissolved Metals - Contains 8 Single Tests		23.99		19.59		
150-DisMet9	Dissolved Metals - Contains 9 Single Tests		25.79		20.79		
150-DisMet10	Dissolved Metals - Contains 10 Single Tests		27.69		22.29		
			31.39		24.89		
150-DisMet15	Dissolved Metals - Contains 12 Single Tests						
150-DisMet15	Dissolved Metals - Contains 15 Single Tests		36.89		28.89		
150-DisMet18	Dissolved Metals - Contains 18 Single Tests		42.39		33.19		
150-DisMet21	Dissolved Metals - Contains 21 Single Tests		47.99		37.59		
150-DisMet24	Dissolved Metals - Contains 24 Single Tests		53.49		40.79		
150-DisMet27	Dissolved Metals - Contains 27 Single Tests		58.99		44.99		
150-DisMet30	Dissolved Metals - Contains 30 Single Tests		64.59		49.19		
150-DisMet33 SKU	Dissolved Metals - Contains 33 Single Tests 155 - Iron 2 (Rusty Colored Deposits / Stains)	Otv	70.09 <b>Price</b>	Savings	53.39  Price	SubTotal	Kits Total
155-Iron2-3	Iron 2 - Contains 3 Single Tests	Qty	14.99	Savings	12.59	SubTotal	Kits Total
			16.99		14.09		
155-Iron2-4	Iron 2 - Contains 3 Single Tests  Iron 2 - Contains 3 Single Tests		22.49		18.39		
155-Iron2-6							
155-Iron2-8	Iron 2 - Contains 3 Single Tests		27.09		22.09		
155-Iron2-9	Iron 2 - Contains 3 Single Tests		29.39		23.69		+
155-Iron2-10	Iron 2 - Contains 3 Single Tests		31.59		25.39		+
155-Iron2-12	Iron 2 - Contains 3 Single Tests		36.19		28.69		
155-Iron2-15	Iron 2 - Contains 3 Single Tests		42.99		33.69		
155-Iron2-18	Iron 2 - Contains 3 Single Tests		49.89		39.09		-
155-Iron2-21	Iron 2 - Contains 3 Single Tests		56.69		44.39		
155-Iron2-24	Iron 2 - Contains 3 Single Tests		63.49		48.39		-
155-Iron2-27	Iron 2 - Contains 3 Single Tests		70.39		53.59		
155-Iron2-30	Iron 2 - Contains 3 Single Tests		77.19		58.79		
155-Iron2-33	Iron 2 - Contains 3 Single Tests		83.99		63.99		

			List		Online		
SKU	160 - Iron 2 and 3 (Rusty Colored Deposits / Stains)	Qty	Price	Savings	Price	SubTotal	Kits Total
160-Iron2-33	Iron 2 and 3 - Contains 3 Single Tests		14.99		12.59		
160-Iron2-34	Iron 2 and 3 - Contains 4 Single Tests		16.99		14.09		
160-Iron2-36	Iron 2 and 3 - Contains 6 Single Tests		22.49		18.39		
160-Iron2-38	Iron 2 and 3 - Contains 8 Single Tests		27.09		22.09		
160-Iron2-39	Iron 2 and 3 - Contains 9 Single Tests		29.39		23.69		
160-Iron2-310	Iron 2 and 3 - Contains 10 Single Tests		31.59		25.39		
160-Iron2-312	Iron 2 and 3 - Contains 12 Single Tests		36.19		28.69		
160-Iron2-315	Iron 2 and 3 - Contains 15 Single Tests		42.99		33.69		
160-Iron2-318	Iron 2 and 3 - Contains 18 Single Tests		49.89		39.09		
160-Iron2-321	Iron 2 and 3 - Contains 21 Single Tests		56.69		44.39		
160-Iron2-324	Iron 2 and 3 - Contains 24 Single Tests		63.49		48.39		
160-Iron2-327	Iron 2 and 3 - Contains 27 Single Tests		70.39		53.59		
160-Iron2-330	Iron 2 and 3 - Contains 30 Single Tests		77.19		58.79		
160-Iron2-333	Iron 2 and 3 - Contains 33 Single Tests		83.99		63.99		
SKU	165 - Copper	Qty	Price	Savings	Price	SubTotal	Kits Total
165-Cu3	Copper - Contains 3 Single Tests		14.99		12.59		
165-Cu4	Copper - Contains 4 Single Tests		16.99		14.09		
165-Cu6	Copper - Contains 6 Single Tests		22.49		18.39		
165-Cu8	Copper - Contains 8 Single Tests		27.09		22.09		
165-Cu9	Copper - Contains 9 Single Tests		29.39		23.69		
165-Cu10	Copper - Contains 10 Single Tests		31.59		25.39		
165-Cu12	Copper - Contains 12 Single Tests		36.19		28.69		
165-Cu15	Copper - Contains 15 Single Tests		42.99		33.69		
165-Cu18	Copper - Contains 18 Single Tests		49.89		39.09		
165-Cu21	Copper - Contains 21 Single Tests		56.69		44.39		
165-Cu24	Copper - Contains 24 Single Tests		63.49		48.39		
165-Cu27	Copper - Contains 27 Single Tests		70.39		53.59		
165-Cu30	Copper - Contains 30 Single Tests		77.19		58.79		
165-Cu33	Copper - Contains 33 Single Tests		83.99		63.99		
SKU	170 - Zinc	Qty	Price	Savings	Price	SubTotal	Kits Total
170-Zinc3	Zinc - Contains 3 Single Tests		13.99		11.79		
170-Zinc4	Zinc - Contains 4 Single Tests		15.99		13.29		
170-Zinc6	Zinc - Contains 6 Single Tests		19.79		16.19		
170-Zinc8	Zinc - Contains 8 Single Tests		23.09		18.89		
170-Zinc9	Zinc - Contains 9 Single Tests		24.69		19.89		
170-Zinc10	Zinc - Contains 10 Single Tests		26.39		21.29		
170-Zinc12	Zinc - Contains 12 Single Tests		29.69		23.59		
170-Zinc15	Zinc - Contains 15 Single Tests		34.59		27.09		
170-Zinc18	Zinc - Contains 18 Single Tests		39.59		30.99		
170-Zinc21	Zinc - Contains 21 Single Tests		44.49		34.89		
170-Zinc24	Zinc - Contains 24 Single Tests		49.49		37.79		
170-Zinc27	Zinc - Contains 27 Single Tests		54.39		41.49		
170-Zinc30	Zinc - Contains 30 Single Tests		59.39		45.29		
170-Zinc33	Zinc - Contains 33 Single Tests		64.29		48.99		

			List	(	Online		
SKU	175 - Salinity (Dissolved Salt) of Water	Qty	Price	Savings	Price	SubTotal	Kits Tota
175-Salinity3	Salinity - Contains 3 Single Tests		12.99		10.89		
175-Salinity4	Salinity - Contains 4 Single Tests		13.99		11.59		
175-Salinity6	Salinity - Contains 6 Single Tests		17.69		14.49		
175-Salinity8	Salinity - Contains 8 Single Tests		20.69		16.89		
175-Salinity9	Salinity - Contains 9 Single Tests		22.19		17.89		
175-Salinity10	Salinity - Contains 10 Single Tests		23.59		18.99		
175-Salinity12	Salinity - Contains 12 Single Tests		26.59		21.19		
175-Salinity15	Salinity - Contains 15 Single Tests		30.99		24.29		
175-Salinity18	Salinity - Contains 18 Single Tests		35.39		27.79		
175-Salinity21	Salinity - Contains 21 Single Tests		39.89		31.29		
175-Salinity24	Salinity - Contains 24 Single Tests		44.29		33.79		
175-Salinity27	Salinity - Contains 27 Single Tests		48.69		37.19		
175-Salinity30	Salinity - Contains 30 Single Tests		53.09		40.49		
175-Salinity33	Salinity - Contains 33 Single Tests		57.59		43.89		
SKU	180 - Bacterial Growth Indicator	Qty	Price	Savings	Price	SubTotal	Kits Tota
180-BactInd3	Bacterial Indicator - Contains 3 Single Tests		21.99		18.39		
180-BactInd4	Bacterial Indicator - Contains 4 Single Tests		25.99		21.49		
180-BactInd6	Bacterial Indicator - Contains 6 Single Tests		35.09		28.59		
180-BactInd8	Bacterial Indicator - Contains 8 Single Tests		43.19		35.09		
180-BactInd9	Bacterial Indicator - Contains 9 Single Tests		47.29		37.99		
180-BactInd10	Bacterial Indicator - Contains 10 Single Tests		51.29		41.19		
180-BactInd12	Bacterial Indicator - Contains 12 Single Tests		59.49		47.09		
180-BactInd15	Bacterial Indicator - Contains 15 Single Tests		71.69		56.09		
180-BactInd18	Bacterial Indicator - Contains 18 Single Tests		83.89		65.59		
180-BactInd21	Bacterial Indicator - Contains 21 Single Tests		96.09		75.09		
180-BactInd24	Bacterial Indicator - Contains 24 Single Tests		108.29		82.49		
180-BactInd27	Bacterial Indicator - Contains 27 Single Tests		120.49		91.69		
180-BactInd30	Bacterial Indicator - Contains 30 Single Tests		132.69		100.99		
100 DtI- 422	Bacterial Indicator - Contains 33 Single Tests		144.89		110.29		
180-BactInd33	Bacterial Indicator Contains 33 Single Tests		177.07		110.25		

SKU	Liquid Chemistry Water Test Kits	Qty	List Price	Savings	Online Price	SubTotal	Kits Total
Ag900Mil	Soil Fertilizer Water Test Kit		277.19		221.89		
Aq600Mil	Dissolved Oxygen Kit		333.69		267.09		
Mt6003Mil	Soil Nutrients (N,P,K) Kit		47.79		38.39		
Sm801Mil	Combination (pH,EC,TDS) Meters		236.49		189.29		
Sm802Mil	Combination (pH,EC,TDS) Meters		236.49		189.29		
Sms110Mil	Smart pH Continuous Monitors		107.09		85.79		
Sms115Mil	Smart pH Continuous Monitors		98.59		78.99		
Sms120Mil	Smart pH Continuous Monitors		107.09		85.79		
Sms310Mil	Smart EC Continuous Monitors		107.09		85.79		
Sms315Mil	Smart EC Continuous Monitors		98.59		78.99		
Sms410Mil	Smart TDS Continuous Monitors		107.09		85.79		
Sms415Mil	Smart TDS Continuous Monitors		98.59		78.99		
270779	Digital Thermometers		57.69		46.29		
270779C	Digital Thermometers		57.69		46.29		
270778	Digital Thermometers		32.19		25.89		
Ma750Mil	Parts		24.99		20.09		
Ma811/2Mil	Probes		48.39		38.89		
Ma811d/1Mil	Probes		48.39		38.89		
Ma812/2Mil	Probes		48.39		38.89		
Ma812d/1Mil	Probes		48.39		38.89		
Ma830rMil	Parts		48.39		38.89		
Ma840Mil	Probes		197.89		158.49		
Ma841Mil	Parts		51.59		41.39		
Ma850Mil	Probes		80.39		64.49		
Ma911b/1Mil	Electrodes		53.69		43.09		
Ma911b/2Mil	Electrodes		53.69		43.09		
Ma921b/1Mil	Electrodes		56.89		45.69		
Ma921b/2Mil	Electrodes		56.89		45.69		
Ma9305Mil	Parts		132.19		105.89		
Mr100atcMil	Salinity in Sea Water - Refractometers		113.09		90.59		
Mr100Mil	Salinity in Sea Water - Refractometers		101.19		81.09		
Mr110Mil	Salinity in Sea Water - Refractometers		101.19		81.09		
Mr128Mil	Salinity in Sea Water - Refractometers		101.19		81.09		
Mr10atcMil	Sugar (BRIX) Refractometer		113.09		90.59		
Mr18Mil	Sugar (BRIX) Refractometer		101.19		81.09		
Mr200atcMil	Juice Refractometers		113.09		90.59		
Mr200Mil	Juice Refractometers		101.19		81.09		
Mr325Mil	Alcohol Refractometers		101.19		81.09		
Mr32atcMil	Sugar (BRIX) Refractometer		113.09		90.59		
Mr32Mil	Sugar (BRIX) Refractometer		101.19		81.09		
Mr380Mil	Alcohol Refractometers		101.19		81.09		
Mr55Mil	Sugar (BRIX) Refractometer		101.19		81.09		
Mr62Mil	Sugar (BRIX) Refractometer		101.19		81.09		
Mr80Mil	Sugar (BRIX) Refractometer		113.09		90.59		
Mr82Mil	Sugar (BRIX) Refractometer		101.19		81.09		
Mr92Mil	Honey (BRIX) Refractometer		101.19		81.09		
C61Mil	Conductivity Standard Sharp Testers		66.79		53.59		
C62Mil	Conductivity Standard Sharp Testers		66.79		53.59		

C64Mil	Conductivity Standard Sharp Testers	66.79	53.59	
C64Mil	·			
C65Mil	Conductivity Waterproof Sharp Testers	71.49	57.29	
C66 -SMil	Conductivity Waterproof Sharp Testers	115.99	92.89	
C66Mil	Conductivity Waterproof Sharp Testers	71.49	57.29	
pH40Mil	pH Standard Sharp Testers	64.39	51.69	
pH41Mil	pH Standard Sharp Testers	75.09	60.19	
pH42Mil	pH Standard Sharp Testers	111.29	89.19	
pH44Mil	pH Standard Sharp Testers	64.39	51.69	
pH51Mil	pH Waterproof Sharp Testers	69.19	55.49	
pH51-SMil	pH Waterproof Sharp Testers	37.50	89.29	
pH52Mil	pH Waterproof Sharp Testers	77.49	62.09	
pH53Mil	pH Waterproof Sharp Testers	92.89	74.49	
T71Mil	TDS Standard Sharp Testers	66.79	53.59	
T72Mil	TDS Standard Sharp Testers	66.79	53.59	
T74Mil	TDS Standard Sharp Testers	66.79	53.59	
T75Mil	TDS Waterproof Sharp Testers	71.49	57.29	
T76Mil	TDS Waterproof Sharp Testers	71.49	57.29	
Sm100Mil	pH Smart Portable Meters	101.79	81.59	
Sm101Mil	pH Smart Portable Meters	109.29	87.59	
Sm102Mil	pH Smart Portable Meters	158.39	126.89	
Sm301Mil	Conductivity Smart Portable Meters	101.79	81.59	
Sm302Mil	Conductivity Smart Portable Meters	101.79	81.59	
Sm401Mil	TDS Smart Portable Meters	101.79	81.59	
Sm402Mil	TDS Smart Portable Meters	101.79	81.59	
Sm500Mil	ORP Smart Portable Meters	133.79	107.19	
Sm600Mil	Dissolved Oxygen Smart Portable Meters	239.29	191.59	
Sm700Mil	LUX Smart Portable Meters	95.29	76.39	
Sms122Mil	Smart pH Controllers	149.79	119.99	
Sms125Mil	Smart pH Controllers	279.99	224.09	
Sms510Mil	Smart ORP Controllers	160.49	128.49	
Ma955Mil	Use with Controllers	53.69	43.09	
Ma956Mil	Use with Controllers	112.49	90.09	
Ma957Mil	Use with Controllers	123.19	98.69	
M10000b Mil	Maintenance	23.29	18.79	
M10004bMil	pH Standard	23.29	18.79	
M10007b Mil	pH Standard	23.29	18.79	
M1000abMil	Combination of Standards	23.29	18.79	
M10010b Mil	pH Standard	23.29	18.79	
M1001abMil	Combination of Standards	23.29	18.79	
M10020bMil	Concuctivity Standard	20.19	16.29	
M10030bMil	Concuctivity Standard	23.29	18.79	
M10030bHil	Concuctivity Standard	23.29	18.79	
M10032bMil	TDS Standard	23.29	18.79	
M10032bMil	TDS Standard	23.29	18.79	
M10040bMil	TDS Standard	20.19	16.29	
M10040bMil	pH Standard	25.79	20.79	
M10080bMil	TDS Standard	23.79	18.79	
	TDS Standard TDS Standard	23.29	18.79	
M10442bMil				
Ma9004Mil	pH Standard	10.29	8.39	

Ma9007Mil	pH Standard	10.29	8.39	
Ma9010Mil	pH Standard	10.29	8.39	
Ma9015Mil	Maintenance	10.59	8.59	
Ma9016Mil	Maintenance	10.59	8.59	
Ma9020Mil	ORP Standard	18.99	15.29	
Ma9060Mil	Concuctivity Standard	10.59	8.59	
Ma9061Mil	Concuctivity Standard	10.59	8.59	
Ma9062Mil	TDS Standard	10.59	8.59	
Ma9070Mil	Dissolved Oxygen Standard	19.59	15.79	
Ma9071Mil	Dissolved Oxygen Standard	29.59	23.79	
K-0320-100	Alkalinity - Mixed Indicator	158.19	126.69	
K-0320-20	Alkalinity - Mixed Indicator	158.19	126.69	
K-0320-40	Alkalinity - Mixed Indicator	158.19	126.69	
K-0300-100	Alkalinity - Phenolphthalein	158.19	126.69	
K-0300-20	Alkalinity - Phenolphthalein	158.19	126.69	
K-0300-20	Alkalinity - Phenolphthalein	158.19	126.69	
K-0310-100	Alkalinity - Phenolphthalein/Mixed	158.19	126.69	
		158.19	126.69	
K-0310-20	Alkalinity - Phenolphthalein/Mixed	158.19	126.69	
K-0310-40	Alkalinity - Phenolphthalein/Mixed		126.69	
K-0330-100	Alkalinity OH - Phenolphthalein/Barium  Alkalinity OH - Phenolphthalein/Barium	158.19 158.19		
K-0330-20			126.69	
K-0330-40	Alkalinity OH - Phenolphthalein/Barium	158.19	126.69	
K-0030-10	Alkalinity - Mixed Indicator	34.99	28.09	
K-0030-25	Alkalinity - Mixed Indicator	34.99	28.09	
K-0030-50	Alkalinity - Mixed Indicator	34.99	28.09	
K-0010-10	Alkalinity - Phenolphthalein	34.99	28.09	
K-0010-25	Alkalinity - Phenolphthalein	34.99	28.09	
K-0010-50	Alkalinity - Phenolphthalein	34.99	28.09	
K-0020-10	Alkalinity - Phenolphthalein/Mixed	41.19	33.09	
K-0020-25	Alkalinity - Phenolphthalein/Mixed	41.19	33.09	
K-0020-50	Alkalinity - Phenolphthalein/Mixed	41.19	33.09	
K-0040-10	Alkalinity OH - Phenolphthalein/Barium	34.99	28.09	
K-0040-25	Alkalinity OH - Phenolphthalein/Barium	34.99	28.09	
K-0040-50	Alkalinity OH - Phenolphthalein/Barium	34.99	28.09	
C-3304-2	Ammonia Nitrogen - Blue Indosalicylate	129.79	103.99	
K-0074-0.2	Free and Total Chlorine Low Range	68.89	55.29	
K-0074F-0.2	Free and Total Chlorine Low Range	68.89	55.29	
K-0072-5-10	Total Chlorine High Range	54.99	44.09	
K-0072-5-5	Total Chlorine High Range	54.99	44.09	
C-0070	Free and Total Halogen	137.99	110.49	
K-0360-20	Hardness by EDTA	158.19	126.69	
K-0360-50	Hardness by EDTA	158.19	126.69	
K-0365-20	Hardness by EDTA	158.19	126.69	
K-0365-50	Hardness by EDTA	158.19	126.69	
K-0370-20	Hardness by EDTA	158.19	126.69	
K-0370-50	Hardness by EDTA	158.19	126.69	
K-0080-1	Hardness by Calmagite indicator	40.49	32.49	
K-0080-25	Hardness by Calmagite indicator	40.49	32.49	
K-0080-5	Hardness by Calmagite indicator	40.49	32.49	

K-0081-1	Hardness by Calmagite indicator	36.29	29.19	
K-0081-25	Hardness by Calmagite indicator	36.29	29.19	
K-0081-5	Hardness by Calmagite indicator	36.29	29.19	
K-0082-1	Hardness by Calmagite indicator	40.49	32.49	
K-0082PP-1	Hardness by Calmagite indicator	40.49	32.49	
K-0090-1	Hardness by Calmagite indicator	41.19	33.09	
K-0090-25	Hardness by Calmagite indicator	41.19	33.09	
K-0090-5	Hardness by Calmagite indicator	41.19	33.09	
K-0100-1	Hardness by Calmagite indicator	41.19	33.09	
K-0100-25	Hardness by Calmagite indicator	41.19	33.09	
K-0100-5	Hardness by Calmagite indicator	41.19	33.09	
C-0110-10	Iron Total by Phenanthroline	83.39	66.89	
C-0182-CR	pH by Color Indicator	77.59	62.19	
C-0182-PR	pH by Color Indicator	77.59	62.19	
C-0182-TB	pH by Color Indicator	77.59	62.19	
C-0182-WR	pH by Color Indicator	77.59	62.19	
Replacement Reagents		Call	Call	
Other Chemistry Kits		Call	Call	
Custom Combination Kits		Call	Call	
151276	Total Water Hardness	10.99	9.90	
151278	Calcium Water Hardness	15.99	13.72	
151306	Total Alkalinity	12.99	11.01	
151076	pH and Chlorine High Range Test Kits	11.99	10.09	
151090	pH and Chlorine Tablet Test Kits	13.99	12.60	
151726	pH and Chlorine (or Bromine) Test Kits	12.99	11.30	
151246	pH, Acid Demand, Alkalinity, 3 Types Chlorine	36.99	32.51	
151260	pH, Alkalinity, Water Hardness, 3 Types Chlorine	31.99	27.98	
151186	pH, Acid Demand, Alkalinity, Chlorine Residual	31.99	28.15	
151224	Br, Cl, pH, Alkalinity, Water Hardness	28.99	25.84	
151606	CI, Br, pH, Alkalinity, Water Hardness	28.99	25.93	
151716	Eleven (11) common water tests in one kit	57.99	51.08	
141016	Thermometers	6.99	5.69	
141036	Thermometers	12.09	9.79	
141200	Thermometers	15.59	12.59	
221270	Thermometers	2.59	2.19	
270779	Digital Thermometers	57.69	46.29	
270779C	Digital Thermometers	57.69	46.29	
270778	Digital Thermometers	32.19	25.89	
INVOICE		SAVINGS	TOTAL	